L

/

61

60
58
61

71
65
6 4

61

60

61

61

60
6 2

60

59

52

57

58
59
59

58
60

60

61

60
59

L

ol

Ql

H2 §|.

)

H2 9.

H2 8.

11

H2 9.

75

2

6] 5

6/ 0

6] 0

76
6L

5P

6B
6 6

6 4

q3
q 6

6B

6 R
6 5

58

5B

58

5|

58
6 0

6 2

q0

61

60
59

59

60
56
59

60
60
6 2

60

65

63

60
65
61

L

Ql

D

Ql

L

ol

H2 §|.

)
1

H2 9.

H2 8.

1

11

H2 9.

H2 8.

)
1

H2 9.
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H2 8. 4 D. 35 0.p7 0 .|31 H2 8. 4 D. 46 0.pB4

5 0.84 D. 22 0.BO 51 0. 44 D. 30

6/ 0. 40 D. 23 0.B5 6/ 0.89 D. 30

7 0. 47 D. 28 0. B7 77 0.40 D. 29

g 0. 41 D. 26 0.B3 8§ 0. 85 D. 25

90 0. 5/4 0. 34 0. 47 99 0. 45 D. 31

L @ . 51 0.40 0.4%2 1)00. 4|3 0. 33

11 0./54 0. 42 0.14Pp 1110. 4/4 0. 37

1p 0./53 0. 46 0.14p 1p 0./47 0. 41
H29[. 1 D. 56 0.p8 0 .|53 H29[. 1 D. 48 0.p4O0

2l 0.49 D . 42 0. 46 2/ 0.41 D. 35

3] 0.54 D. 46 0.pBQ0 3] 0. 47 D. 38

0. 56 0.22 0. 42 0. 48 0.25
H28[. 4 D. 40 0.pB4 0 .|37 H28[. 4 D. 50 0.B5

5 0. 88 D. 26 0.B3 5 0. 49 D. 34

6/ 0.87 D. 28 0.B2 6/ 0.89 D. 32

7/ 0. 47 D. 34 0. 42 7/ 0.41 D. 30

8§ 0. 42 D. 32 0. B6 8 0. B8 D. 30

9 0. 49 D. 35 0.44 9 0. 44 D. 34

1100 . 4|6 0. 42 0. 44 1100. 51 0. 43

1110. 54 0. 46 0. 49 1110. 6/0 0.50

1p 0./52 0. 45 0.14Pp 1p 0. 53 0.50
H29[. 1 D. 52 0.p6 0 .|50 H29[. 1 D. 54 0.p2

2l 0.47 D. 38 0.44 2l 0.45 D. 38

3] 0.52 D. 43 0. 48 3] 0. 47 0. 40

0. 54 0. 26 0. 42 0. 6/0 0. 30
H28[. 4 0. 71 0.PB5 0 .|68 H2 8. 4 0. 61 0.p6

5 0.66 D. 52 0.pb8 5 0.62 D. 54

6/ 0.56 D . 47 0.pb3 6/ 0.60 0. 50

71 0.61 D. 52 0.pb8 71 0.68 D. 58

8 0.58 D. 52 0. b6 8 0.63 D. 51

9 0. 61 0.53 0.38 9 0.61 D. 53

L @ . 6|9 0.61 0. 96| ( L @ . 7|1 0.59

11 0./80 0. 617 0.|174¢ 11 0./81 0. 617

1p 0./78 0. 71 0.17 1p 0./80 0. 72
H29[. 1 D. 84 0.6 0 .|79 H29[. 1 D. 84 0.6

2/ 0.80 0. 73 0.7 2/ 0.81 D. 75

3] 0.80 D. 73 0. 177 3] 0.81 D. 76

0. 84 0.47 0.407 0. 84 0.50
H28[. 4 D. 71 0.pB5 0 .|68 H28[. 4 D. 51 0.pB8

5 0.68 D. 52 0.6b1 5 0. 47 D. 34

6/ 0.55 D. 45 0.p2 6/ 0. 44 D. 33

71 0.59 D. 49 0.pB5 7/ 0. 47 D. 36

8 0.55 D. 45 0.pBQ0O 8 0. 46 D. 33

9 0. 56 0. 46 0.93 9 0. 49 0. 36

L . 67 0.57 0. 48| ( L . 56 0. 47

1L 0.|75 0.65 0.7 1L 0./62 0.51

1p 0.|75 0. 71 0.17B 1p 0./54 0. 46
H29[. 1 D. 81 0.5 0 .|7 7 H29[. 1 0. 59 0.p1

2l 0.79 D. 74 0.6 2l 0.56 D. 50

3] 0.7v9 0. 75 0.7 3] 0.52 D. 45

0. 81 0. 45 0.45 0. 62 0.33
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. 38

. 45

.41

.50

. 58

. 80

.42

. 55



mqg/ L

H2 8. 4 D . 43 0.pB4 0 .|38 H2 8. 4 0. 70 0.p4
5 0. 42 D. 30 0. B7 5 0.70 D. 50
6/ 0. B8 D. 29 0.B4 6/ 0.50 0. 41
71 0. 42 D. 36 0.B9 71 0.55 D. 43
8 0.87 D. 28 0.B?2 8 0.54 D . 43
99 0. 45 D. 34 0.B9 9 0.55 D. 45
L @ . 4|5 0.39 0. 420 ( L @ . 6/5 0.53
11 0. 48 0. 38 0. 44 11 0.|75 0.64
1p 0./40 0.36 0.3V 1p 0./74 0.69
H29[. 1 D. 42 0.pB8 0 .|39 H29[. 1 D. 82 0.3
2l 0. 86 D. 28 0.B3 2 0.y7 0. 70
3] 0. 41 D. 31 0.B5 3] 0.77 D . 72
0. 48 0.28 0. 37 0. 82 0.41
H28[. 4 D. 71 0.p4 0 .|67 H28[. 4 D. 50 0.B5
5 0.66 D . 47 0.p7 5 0.40 D. 32
6f 0.52 D. 41 0. 48 6/ 0. 42 D. 31
7/ 0.54 D. 46 0.p1 7/ 0.53 D. 41
8 0.50 D. 39 0. 45 8 0.50 D. 43
9 0.54 D . 44 0.pBQ 9 0.509 0. 47
L . 6/5 0.54 0. 412 1p 0. 6|1 0. 53
1L 0./70 0. 63 0.]16p 1L 0./65 0.52
1p 0./66 0. 62 0.6 ¢ 1p 0./68 0.61
H29[. 1 0. 73 0.PB5 0 .|69 H29[. 1 0. 77 0.PB5
2l 0.69 D. 64 0.67 2l 0.72 D. 64
3] 0.7vO0 D. 65 0.67 3] 0.v7 D. 65
0. 73 0.39 0.39 0. 77 0.31
H2 8. 4 0. 60 0.p4 0.57
5 0.63 D. 55 0.58
6/ 0.56 D. 45 0.52
77 0.60 D. 48 0.55
8 0.60 D. 51 0.56
9 0. 61 0.52 0.58
1p 0. 69 0.59 0.66
11 0./90 0. 617 0.78
1p 0./86 0.78 0.83
H29[. 1 D. 85 0.6 0.82
2l 0.709 0. 72 0.76
3] 0.80 D . 73 0.76
0. 90 0. 45 0.66
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.67
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3 RO KERMA
(4) BB EFTE N
(2) BYEFROMERE

@ H )Ry - 4 SRR R G R ER%)

24 7K A H H H28.4.12 H28.5.17 | H28.6.14 | H28.7.12 @ H28.8.23
PN iz i) N i) i &
= & (C) 17.0 19.8 27.0 27.5 27.2
7K ) (©) 14.0 19.5 21.0 24.0 26. 6
— 154 gk ({8 /mL) 0 0 0 0 0
X % (MPN/100mL) 0 0 0 0 0
H KRIvAkOZTONEY (mg/L) — | <0.0003 — — <0. 0003
KR K O F O b A& W (mg/L) — | <0.00005 — — | <0.00005
t L v kX ZE O AEWY (mg/L) — <0. 001 — — <0. 001
m k O F o & W (mg/L) — <0. 001 — — <0. 001
t # Kk Y F O b A W (mg/L) — <0. 001 — — <0. 001
Nofio o v s b A W (mg/L) — <0. 005 — — <0. 005
i fid 1S HE = = (mg/L) — <0. 004 — — <0. 004
T MM A v RNk T v (mg/L) — <0. 001 — — <0. 001
W ERZNOEMBRERE (mg/L) — 0. 88 — — 0.76
7 v F K O EF 0/ E W (mg/L) — 0.08 — — <0. 08
r v F L O EF 0 E W (mg/L) — 0.02 — — 0. 02
| #H 1t R F# (mg/L) — | <0.0001 — — <0.0001
1, 4- D% 7 e va N (mg/L) — <0. 001 — — <0. 001
vA-,2-YVZmuxF LK
N A-L2-Y /ra T L (mg/L) —| <0.0002 — —| <0.0002
Y = = 2o (mg/L) — <0.0001 — — <0.0001
S r 5 Z v owm x F L v (mg/L) — <0.0001 — — <0.0001
kYU Y/ v v = F L o (mg/L) — <0.0001 — — <0.0001
~ N + N (mg/L) — <0.0001 — — <0.0001
ey 3 [ (mg/L) — <0. 06 — — 0. 06
Vi =t = HiE [ (mg/L) — <0. 002 — — <0. 002
4 = = N I N (mg/L) — 0.010 — — 0. 024
v 4 = = (3 i (mg/L) — 0. 002 — — 0. 007
Y 7 v % 7 u na A K v (mg/L) —0.0014 — —0.0013
= S [ (mg/L) — <0. 001 — — <0.001
BN U N m A X (mg/L) — 0.017 — — 0. 032
k ) 7 = =S (A (mg/L) — 0. 008 — — 0.017
=T S A = = S S (mg/L) —| 0.0053 — —0.0072
va = £ i I N (mg/L) — <0.0001 — — <0.0001
A v AN 7 L F b K (mg/L) — 0. 003 — — 0. 005
wmo k™ o kAW (mg/L) — 0. 029 — — 0. 047
TNLVI=2gAKEOZOREY (mg/L) — 0.03 - - 0.03
% K O Fx o f{ & W (mg/L) — <0.01 — — 0.01
g K O F o kA W (mg/L) — <0.01 — — <0.01
FT PV U LAKEOEZEDOIREDY (mg/L) — 7.9 — — 7.9
<~ v H kRN EOIWEW (mg/L) — <0. 005 — — <0. 005
H (4 W A 7 N (mg/L) 8.4 8.5 8.7 8.2 9.6
NV T, TR NEGEE) (mg/L) — 60 — — 58
7 i 53 E{g W] (mg/L) — 110 — — 118
= 4 4 v /A om 3w A (mg/L) — <0.01 — — <0. 01
v - 7 3 N N (mg/L) | 0.000002 | 0.000001 | 0.000001 | 0.000002 @ 0.000002
- A F A4 VKL R F — L (mg/L) | <0.000001 0.000001 | 0.000002 | 0.000002 = 0.000002
FE 4 0 v K om W M A (mg/L) — <0. 005 — — <0. 005
7 - J — L $A (mg/L) —|  <0.0005 — —|  <0.0005
H#Y (&AM xR E (T0C) O &) (mg/L) 0.5 0.5 0.6 0.7 0.7
p H i 7.4 7.4 7.4 7.4 7.4
S Bl | BEaL ) BEAL | BEaL | BEWAeL
= = HEhL | BE2L BEAelL | BEELRL | BEAL
&) 3 i3 0.5 <0.5 0.5 0.5 0.5
) i3 (B£) 0.1 €0. 1 0.1 0.1 0.1
V53 2 ey e (mg/L) 0.4 0.4 0.4 0.5 0.5
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128.9. 13 | H28. 10. 18 | H28. 11. 15 | H28. 12. 13| H29.1.17 @ H29.2.14 | H29.3. 14 [N e/l S
i fif & i i fif £ —
23.0 24.0 15.9 18.0 6.0 8.8 .0 27.5 6.0 18.5
25.0 21.0 16. 6 13.0 9.0 10. 6 11.0 26.6 9.0 17.6
0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
— <0. 0003 <0. 0003 —|  <0.0003  <0.0003|  <0.0003
— —| <0.00005 — — | <0.00005 —| <0.00005 <0.00005 <0.00005
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 005 — — <0. 005 — <0. 005 <0. 005 <0. 005
— — <0. 004 — — <0. 004 — <0. 004 <0. 004 <0. 004
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — 1.4 — — 1.1 — 1.4 0.76 1.0
— — <0.08 — — <0.08 — 0.08 <0. 08 <0. 08
— — 0.01 — — 0.01 — 0.02 0.01 0.02
— —|  <0.0001 — — | <0.0001 —| <0.0001  <0.0001  <0.0001
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— —|  <0.0002 — —| <0.0002 —|  <0.0002  <0.0002|  <0.0002
— —|  <0.0001 — — | <0.0001 —| <0.0001  <0.0001  <0.0001
— —|  <0.0001 — — | <0.0001 —| <0.0001  <0.0001  <0.0001
— —|  <0.0001 — — | <0.0001 —| <0.0001  <0.0001  <0.0001
— —|  <0.0001 — — | <0.0001 —|  <0.0001 <0.0001  <0.0001
— — <0. 06 — — <0. 06 — 0.06 <0. 06 <0. 06
— — <0. 002 — — <0. 002 — <0. 002 <0. 002 <0. 002
— —| 0.0055 — — | 0.0045 — 0. 024 0. 0045 0.011
— — <0. 002 — — <0. 002 — 0. 007 <0. 002 0. 002
— —| 0.0015 — —0.0014 —| 0.0015 0.0013 0.0014
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — 0.011 — —|0.0090 — 0. 032 0. 0090 0.017
— — 0. 004 — — 0. 004 — 0.017 0. 004 0. 008
— —| 0.0041 — — | 0.0031 —| 0.0072 0. 0031 0. 0049
— —| 0.0001 — — | <0.0001 —| 0.0001 <0.0001  <0.0001
— — <0. 002 — — <0. 002 — 0. 005 <0. 002 0. 002
— — 0. 037 — — 0. 022 — 0. 047 0. 022 0.034
— — 0. 02 — — 0.02 — 0.03 0.02 0.03
— — <0.01 — — 0.01 — 0.01 <0. 01 <0.01
— — <0.01 — — <0.01 — <0.01 <0. 01 <0.01
— — 7.9 — — 8.2 — 8.2 7.9 8.0
— — <0. 005 — — <0. 005 — <0. 005 <0. 005 <0. 005
7.5 7.3 8.2 8.4 8.6 9.2 7.6 9.6 7.3 8.4
— — 67 — — 65 — 67 58 63
— — 122 — — 122 — 122 110 118
— — <0.01 — — <0.01 — <0.01 <0. 01 <0.01
0.000001 = 0.000001 = 0.000002 | 0.000001 0.000001 | 0.000001 @ 0.000001 | 0.000002 | 0.000001 0.000001
<0.000001| <0.000001 <0.000001| <0. 000001  <0.000001 <0.000001| <0.000001| 0.000002 | <0.000001 <0.000001
— — <0. 005 — — <0. 005 — <0. 005 <0. 005 <0. 005
— —|  <0.0005 — — | <0.0005 —|  <0.0005  <0.0005  <0.0005
0.5 0.4 0. 4 0.4 0.5 0.5 0.5 0.7 0.4 0.5
7.3 7.3 7.3 7.4 7.5 7.5 7.5 7.5 7.3 7.4
Bl | BEaL ) BEAL | BEAL ) BEWAaL BEALL | AWARL — — HEL
Bl | BEaL ) BEAL | BEAaL ) BEWAaL BEALL | BAWARL HBERL
0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 0.5 <0.5
<0. 1 0.1 <0. 1 <0. 1 <0. 1 0.1 <0. 1 <0. 1 <0.1 0.1
0.5 0.6 0.5 0.5 0.5 0.4 0.5 0.6 0.4 0.5
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3 ARARRROKERAE
(4) BB EFTE N

(2) BYEFROMERE

@O # ()RS - AZEFREEG KBRS R
24 7K A H H H28.4.12 H28.5.17 | H28.6.14 | H28.7.12 @ H28.8.23
T rrFEUCELREOARLAY (mg/L) — | <0.0003 — — <0. 0003
7 7 v k™ E oA W (mg/L) — | <0.0002 — —| <0.0002
= v NV EOrE O AEY (mg/L) — <0. 001 — — <0. 001
L,2- ¥ 7 w v = & v (mg/L) — <0.0001 — — <0.0001
~ I - N (mg/L) —| 0.0001 — — | 0.0002
TRV (- F L~F L) (mg/L) — <0. 001 — — <0. 001
i b= B fiz (mg/L) — <0. 06 — — 0. 06
Y s v w7 kv =1V (mg/L) — 0. 001 — — 0. 003
Wwoook 7 =t 5 - (mg/L) — 0. 004 — — 0. 009
2 3 ¥ — <0. 001 — — 0. 006
il Hfe R [ (mg/L) — 2.6 — — 2.5
LL1- VU 7 vwomr = X v (mg/L) — <0.0001 — — <0. 0001
A F L -t- 7 F )L = — F )L (MTBE) (mg/L) — <0.0001 — — <0.0001
B OS5 M E (T O N ) <1 <1 <1 <1 <1
B A (Z 45U 7 %) — -1.3 — — -1.3
e & 5 = A (f# /mL) 1 0 0 0 1
LI- ¥ 7 v mr = F L v (mg/L) — <0.0001 — — | <0.0001
23 = s A il (MPN/100mL) — — — — —
£ Wb B EE R & (mg/L) — — — — —
b7 15 3 e (mg/L) — - — - -
v = v P e (MPN/L) - - - - -
I = 3 2 iful (MPN/L) — — — — —
X W B (MPN/100mL) 0 0 0 0 0
#E fE Mk # fH Bk (MPN/100mL) — — — — —
7 oy T = 7 & = # (mg/L) — — — — —
7 % > 7 VA (mg/L) — 16 — — 16
~ 7 kS > v A (mg/L) — 4.6 — — 4.3
fifi [ A 7 N (mg/L) — 20 — - 21
kU »~ 8 X Z v A Ok fE (mg/L) — — — — —
s 7 L 7 ) E (mg/L) — 37 — — 32
o = & i R (mS/m) 16. 6 16.5 16. 8 16. 7 16. 4
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H28.9.13 | H28.10.18 | H28. 11. 15 H28.12. 13 | H29.1.17 H29.2.14 | H29. 3. 14 K /) D]

— — <0. 0003 — — <0. 0003 — <0. 0003 <0. 0003 <0. 0003
— — <0. 0002 — — <0. 0002 — <0. 0002 <0. 0002 <0. 0002
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
— — <0. 0001 — — <0. 0001 — 0. 0002 <0. 0001 <0. 0001
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 06 — — <0. 06 — <0. 06 <0. 06 <0. 06
— — <0. 001 — — <0.001 — 0. 003 <0. 001 0.001
— — 0. 002 — — 0. 003 — 0. 009 0. 002 0. 005
— — 0. 002 — — <0. 001 — 0. 006 <0. 001 0. 002
— — 3.1 — — 1.5 — 3.1 1.5 2.4
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1
— — -1.4 — — -1.3 — -1.3 -1.4 -1.3
0 0 0 0 0 4 6 6 0 1
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
0 0 0 0 0 0 0 0 0 0
— — 18 — — 18 — 18 16 17
— — 5.3 — — 5.2 — 5.3 4.3 4.9
— — 25 — — 20 — 25 20 22
— — 42 — — 43 — 43 32 39

15.9 16. 7 18.1 18.6 18.4 17.6 16.8 18.6 15.9 17.1
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3 MKIEEROKERE
(4) BeaKEE EFE N

(2) BbLZ K OV R AL
O H Gk - R KRS R X)

£ 7K F A H H28.5.17 | H28.8.23 |H28.11.15 H29.2.14 LN /s Sy
L3-Y s wow7° 5A” v (DD (mg/L)| <0.0002 <0.0002 <0.0002| <0.0002] <0.0002 <0.0002  <0.0002
2,2-DPAC % 5 K v ) (mg/L)| <0.0002 0.0005  0.0002 <0.0002] 0.0005  <0.0002  <0.0002
2,4-D (2, 4-PA) (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001| <0.0001 <0.0001 <0.0001

EPN (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
MCPA (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005

7 D4 e 7 2 (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 + 7 - — k (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
7 k 7 P4 > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 = = & Z (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 3 ~ 7 2 (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
7 7 7 = — L (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 vV % % F  F v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
4 v 7 = ¥ & A (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A4 YV 7 v JH o 7 MIPC) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4V 7 m F F 5 v (IPT) (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
4 7 m N & A (IBP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 v X 2 7 57 v (mg/L)]| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
= 2 7 v H A 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= ¥ 4 7 = v & % (EDDP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
= 7 = v 7 v oy 7 A (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
T RYDTY— A (mr AV —) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
TURALT 7 (R EY) (mg/L)| <0.0001  <0.0001  <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
F+ % H ¥ r v A K v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F x v v i (A M 8§ ) (mg/L)| <0.0001| <0.0001 <0.0001  <0.0001| <0.0001| <0.0001  <0.0001
4 U H 2 b v B v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
Vi =z VA ) 2 (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
37 = v A k v — b (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
b A )] b (NAC) (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
/Y VR A = A K (mg/L)| <0.0001] <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
il JL N 7 7 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
X /J 7 5 I »  (ACN) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
¥ ¥ A v > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 2 I = v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7y w A 7 v v 7 (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 m ) = kv 7 = » (CNP) (mg/L)| <0.00001 <0.00001 <0.00001/ <0.00001| <0.00001 <0.00001 <0.00001
y wm g U R Z (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
7 m wm % m = )L (TPN) (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
Vs 7 7 D4 > (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
> 7 7 & A (CYAP) (mg/L)| <0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v 7 = N (DCMU)  (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
v 7 m X = 2 (OBN) (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 v A K Z  (DDVP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
ALK R (mFATF A A M) (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
v A %+ =4 JL (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
oo om R v 7 7 F s (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
o < v NZ (CAT) (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v A 2R F U » (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
v A k Ea — F (mg/L)|[ <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
D A k Y > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
Y A EF L — b (mg/L)] <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v 4 7 ¥ J > (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
v A N = > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
¥ 7 v = L (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
¥ % 7 2 (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F 7 P4 7 JL 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
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F 4 7 7 % — k A F 0 (mg/L)| <€0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F 4 N v 7 (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F g 7 H A 7 (MBPMC) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
K D) Vi = B L (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
F U 7 v A sk v (DEP) (mg/L)]| <0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
kU v s 5 Y — b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 <0.0001
U 7 v 5 U v (mg/L)| <0.0001] <0.0001 <0.0001] <0.0001| <0.0001 <0.0001  <0.0001
> 75 om0 F (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
= ~ = & 2 (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v 5 Y % v 7 = v (mg/L)] <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
S U x—Kk(EF YL — k) (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
¥ U ¥ 7 = v F o v (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
¥ U 7 F  h 7 (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= m ¥ = > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 4 7 m = ) (mg/L)]<0.000005 <0.000005 <0.000005 <0.000005]<0. 000005 <0. 000005 <0. 000005
7 = = kv F 4 > MEP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 = J 7 & 7 (BPMC) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 = v F A+ v (PP) (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 = ¥ Lk = — k (PAP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 = v k7 F I F (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 s = A K (mg/L)| <0.0001] <0.0001 <0.0001] <0.0001| <0.0001 <0.0001 <0.0001
R 27— L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 Vi 2 & 2 (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 7 w7 = ¥ v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 v 7 Y x (mg/L)] <0.0001  <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
7 L F 5 s v — b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 v 3 R v (mg/L)| <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 v F 4+ & A (mg/L)| €0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 m v =2 F Y — 2 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 n v 3 F (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 o X F Y — L (mg/L)]| <€0.0001] <€0.0001 <0.0001] <0.0001] <0.0001] <0.0001 <0.0001
7 v = 7 F F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
~ J 2 A (mg/L)|  €0.0002  <€0.0002] <0.0002  <0.0002| <0.0002  <0.0002  <0.0002
~ v = > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
N v Yy v v 7 oa v (mg/L] <0.0001  <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
N v Y 7 = F w7 (mg/L)] €0.00001 <0.00001 <0.00001 <0.00001] <0.00001 <0.00001 <0.00001
~ v % > > (mg/L)| <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
~ v F 4 A & U v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
Ny 75k 7 (mg/L)| <0.0001  <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Ny TN T Y (R AP r) (mg/L)| <€0.0001  <€0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
~N v 7 v & — b (mg/L)| <0.0001 <0.0001] <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
K A F 7 ¥ — b (mg/L)] €0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
~ 5 F 4 v (~ F Y v ) (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
A a3 7 m w7 (MCPP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A v N A (mg/L)] €0.0001  <€0.0001  <€0.0001  <0.0001] <0.0001 <0.0001  <0.0001
A % 5 % v L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
A F X F & »  (OMP) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A F v X A4 A v v (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A K 3 J A k om B ¥ (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A b ) 7 v v (mg/L)| <€0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
A 7 = F & v bk (mg/L)]| <0.0001 <0.0001] <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A v = = JU (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
=+ J] * — k (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
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EPN Z ¥ v > (mg/L)| <0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A4 Y X% % F F v A F Y o~ (ng/L)] <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
A4 YV 7 = vk A F F Y v (mg/L)]<0.000005 <0.000005 <0. 000005 <0.000005|<0. 000005 <0. 000005 <0.000005
T v F 2 A 7 = — |k (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
CNP- 7 2 J & (mg/L) [<0.000001]<0. 000001 | <0. 000001 <0.000001]<0. 000001 <0. 000001 <0. 000001
7 v L ¥ Y kR A F ¥ Y (mg/L)| <0.00001 <0.00001 <0.00001] <0.00001]| <0.00001 <0.00001| <0.00001
X A4 7 Y 2 v F F Vv (mg/L)| €0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 x = huF A FF Y (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP 2 L k%3 R (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP 2 JL 7+ > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP Z ¥ v > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
MPP 4 % ¥V v 2 L R F ¥ F (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP A+ % Y v Z & v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 % I KR A A4 F YV v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
7 v & 7 F F F 7 v E (ng/L)] <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
~ 5 F F v F F YV v (mg/L)| <€0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
7 v % I 7 U F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
4 2 ¥ 7 v 7 U F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
F 7 a  F v — L (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001]| <0.0001
=5 Z 7 = ) Z (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 L A 7 7 I F (mg/L)| €0.00001 <0.00001 <0.00001] <0.00001]| <0.00001 <0.00001| <0.00001
7 = ~ D sV (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
~ r  F  F F Y v (mg/L)| <0.0001 <€0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
2 A = v (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A b 5 7 v — 2 (mg/L)| <0.0001 <0.0001 <€0.0001] <0.0001] <0.0001 <0.0001 <0.0001
T R Y 5 -5 A F  (mg/L)| <€0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
7 A k U > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
4 F N v 7 4 F (mg/L)] <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001]| <0.0001
4 ~ Y Z A 7 m ¥ (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
v = =@ F Y — 4 P (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
= F ¥ ¥ 2 A 7 v ¥ (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
© F N ¥ =  F (mg/L)| <0.0001 <€0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
F F B Y 7 X 2 (mg/L)]| <0.0001  <0.0001 <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
Z ¥ VA 2 b (mg/L)| <0.0001 <0.0001  <€0.0001 <0.0001| <0.0001 <0.0001 <0.0001
¥ ¥ v & v 7 = F A (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
s v F 7 = ¥ v (mg/L)| <0.0001 <0.0001 <€0.0001 <0.0001] <0.0001 <0.0001 <0.0001
s w < 7 = /J ¥ F (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
J vy 2 — L A F L (ICTP) (mg/L)[ <0.0001 <0.0001  <€0.0001 <0.0001] <0.0001 <0.0001 <0.0001
s m ¥ U R A A F L (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
Y s w7 = v F 4 » (ECP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
v Y = A Vs > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y 7 m A 7 m vy 7 (mg/L)| <0.0001 <0.0001 <€0.0001 <0.0001] <0.0001 <0.0001 <0.0001
vy ) A2 7 |\ v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001f <0.0001 <0.0001  <0.0001
2 J 7 7 7 > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y 7 = @ F Y — A (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
Y 7 L AN v X o\ v (mg/L)| <0.0001 <0.0001 <€0.0001 <0.0001] <0.0001 <0.0001 <0.0001
v 7 m a2 F ¥V — A (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
D 7 = D = JL (mg/L)| <0.0001 <0.0001  <€0.0001 <0.0001] <0.0001 <0.0001 <0.0001
v A @ F Y — 4 (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
Y A F N ¥ v R A (mg/L)| <0.0001 <0.0001 <€0.0001] <0.0001] <0.0001 <0.0001 <0.0001
v 5 7 A F 7 = v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
V2 N A ¥ ) > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
F ¥ 7 v 7 R (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
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F 7 A F % H A (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
¥ 4 LW 3 F (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
F FF 7oA rAk A CWP) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
F F 5 a F Y — L (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
F 7 7 = ) ¥ F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
F U X2 F Y Ry = F o (mg/L)| <0.0001 <0.0001 <€0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y 7 o 2 Y — A (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
>+ 7 v 7 = Y F (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
= va N = 5 2 (mg/L)| <0.0001  <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Ry a7k 5 Y — L (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001] <0.0001
=5 A I o v > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
¥ Y AN 7w v F L (ng/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
U I 2 N vy 7 A F o (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
U I &k A A F L (mg/L)| <£0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
7 7 A b v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 0 7 Y &K v 7 (mg/L)| <0.0001 <0.0001 <€0.0001 <0.0001] <0.0001 <0.0001 <0.0001
7 w8 = 2 (DCPA) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001 <0.0001
7 = % * 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001| <0.00001
7 m 8 A ¥ v b (BPPS) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 v K ¥ Z L (PHO) (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001] <0.0001 <0.0001] <0.0001
7 = A k ) > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
N v ¥ A4 & B v T (mg/L)| €0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
2 ¥ D2 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A 2 7 j F (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
£ /) s o\ bk & A (mg/L)] <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001] <0.00001 <0.00001
1 = = o > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 Y ¥ ¥ Z F v E v (mng/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
A 7 & v * > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y = = % 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001f <0.0001 <0.0001]| <0.0001
v 7 o = > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
F = L rZ m  — L (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
vy om ok A A F A (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
N | A 7 o\ v A F L (mg/L)| <0.0001  <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
v 7 = ) vz Z (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
¥ U 7 m % v 7 = v (mg/L)| <0.0001] <0.0001 <0.0001] <0.0001| <0.0001 <0.0001| <0.0001
7 5 ¥ 2z A 7 v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
7 v k 5 = U (mg/L)| <0.0001 <0.0001 <€0.0001 <0.0001| <0.0001 <0.0001 <0.0001
~ o=z R (SAP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
N v 2 7 o\ v A F L (mg/L)| <0.0001  <0.0001  <0.0001] <0.0001| <0.0001 <0.0001] <0.0001
70 + ¥ sV (mg/L)| <0.0002  <0.0002| <0.0002| <0.0002| <0.0002  <0.0002  <0.0002
A2 adRARXAFALAFY L (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
+ % ¥ ¥ 7 Y v (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
s v A b ¥ ¥ = L (mg/L)] <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
My ZmabEr-2-7 k% x=F N (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
= F ©m 7 = ¥ (NIP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
7 = % D > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
2- 4 b E U F — b (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001  <0.0001
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3 RO KERMA
(4) BB EFTE N
(2) BYEFROMERE

@  RAR (MR K Y %)

24 7K A H H H28.4.12 H28.5.17 | H28.6.14 | H28.7.12 @ H28.8.23
PN iz i) N i) i &
= & (C) 12.2 20.0 23.5 29.5 26.0
7K & (C) 14.9 19.0 22.0 24.3 26.0
— 154 gk ({8 /mL) 0 0 0 0 0
X % (MPN/100mL) 0 0 0 0 0
H KRIvAkOZTONEY (mg/L) <0. 0003 — — <0. 0003 —
KR K O F O b A& W (mg/L)| <0.00005 — — | <0.00005 —
t L v kX ZE O AEWY (mg/L) <0. 001 — — <0. 001 —
m k O F o & W (mg/L) <0. 001 — — 0. 002 —
t # Kk Y F O b A W (mg/L) <0. 001 — — <0. 001 -
A | 72 = T N (A S ¥/ (mg/L) <0. 005 — — <0. 005 —
i fit§ 1S HE = = (mg/L) <0. 004 — — <0. 004 —
T MM A v RNk T v (mg/L) <0. 001 — — <0. 001 —
W ERZNOEMBRERE (mg/L) 1.0 — — 0.74 —
7 v F K O EF 0/ E W (mg/L) <0. 08 — — <0. 08 —
r v F L O EF 0 E W (mg/L) 0.01 — — 0.01 —
| #H 1t R F# (mg/L) <0. 0001 — — | <0.0001 —
1, 4- D% 7 e VA N (mg/L) <0. 001 — — <0. 001 —
vA-,2-YVZmuxF LK
N A-L2-Y /ra T L (mg/L) <0. 0002 — — | <0.0002 —
Y = = 2o (mg/L) <0. 0001 — — | <0.0001 —
S r 5 Z v owm x F L v (mg/L) <0. 0001 — — | <0.0001 —
kYU Y/ v v = F L o (mg/L) <0. 0001 — — | <0.0001 —
~ N + N (mg/L) <0. 0001 — — | <0.0001 —
ey ES 3 (mg/L) <0. 06 — — 0. 06 —
Vi =t = HiE [ (mg/L) <0. 002 — — <0. 002 —
4 = = N I N (mg/L)|  0.0072 — — 0.013 —
v 4 = = (3 i (mg/L) 0. 004 — — 0. 006 —
Y 7 v % 7 u na A K v (mg/L)| 0.0014 — —|  0.0013 —
= S [ (mg/L) <0. 001 — — <0. 001 —
b S N R = S S SN (mg/L) 0.013 — — 0. 020 —
k ) 7 = =S (A (mg/L) 0. 006 — — 0. 009 —
=T S A = = S S (mg/L)|  0.0047 — —| 0.0055 —
va = £ i I N (mg/L)|  0.0001 — — | <0.0001 —
A v AN 7 L F b K (mg/L) <0. 002 — — 0. 003 —
wmo k™ o kAW (mg/L) <0. 005 — — <0. 005 —
TLI=T AR OREDONAEY (mg/L) 0.03 — — 0.03 —
% K O Fx o f{ & W (mg/L) <0.01 — — <0. 01 —
g K O F o kA W (mg/L) 0. 01 — — <0.01 —
FT PV U LAKEOEZEDOIREDY (mg/L) 7.6 — — 7.2 —
<~ v H kRN EOIWEW (mg/L) <0. 005 — — <0. 005 —
H (4 W A 7 N (mg/L) 7.7 10 7.6 7.4 8.3
NV T, TR NEGEE) (mg/L) 60 — — 60 —
7 5 5% i Y (mg/L) 108 — — 113 —
= 4 4 v /A om 3w A (mg/L) <0.01 — — <0. 01 —
v - 7 3 N N (mg/L) | 0.000002 | 0.000001 | 0.000001 = 0.000001 | 0.000001
- A F A4 VKL R F — L (mg/L) | <0.000001 0.000001 | 0.000002 | 0.000002 = 0.000002
FE 4 0 v K om W M A (mg/L) <0. 005 — — <0. 005 —
7 - ) — L $A (mg/L) <0. 0005 — — | <0.0005 —
H#Y (&AM xR E (T0C) O &) (mg/L) 0.5 0.4 0.5 0.6 0.6
p H i 7.6 7.6 7.6 7.5 7.5
S Bl | BEaL ) BEAL | BEaL | BEWAeL
= = HEhL | BE2L BEAelL | BEELRL | BEAL
&) 3 i3 0.5 <0.5 0.5 0.5 0.5
) i3 (B£) 0.1 €0. 1 0.1 0.1 0.1
153 5)’ ey e (mg/L) 0.7 0.6 0.6 0.6 0.5
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128.9. 13 | H28. 10. 18 | H28. 11. 15 | H28. 12. 13| H29.1.17 @ H29.2.21 | H29.3. 14 [N e/l S
i fif & i i fif £ —
21.0 23.5 16.0 12.0 10.5 13.0 .0 29.5 7.0 17.9
24.0 22.0 18.0 15.0 10. 2 11.0 11.0 26.0 10. 2 18.1
0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
<0. 0003 — <0. 0003 —|  <0.0003  <0.0003|  <0.0003
— | <0.00005 — —|  <0.00005 — —| <0.00005 <0.00005 <0.00005
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— 0. 002 — — <0. 001 — — 0. 002 <0. 001 0.001
— <0. 001 — — <0. 001 — — <0.001 <0. 001 <0. 001
— <0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005
— <0. 004 — — <0. 004 — — <0. 004 <0. 004 <0. 004
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— 1.3 — — 1.2 — — 1.3 0.74 1.1
— <0.08 — — <0. 08 — — <0. 08 <0. 08 <0. 08
— 0.01 — — 0.01 — — 0.01 0.01 0.01
— | <0.0001 — —|  <0.0001 — —| <0.0001  <0.0001  <0.0001
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
—| <0.0002 — —|  <0.0002 — —|  <0.0002  <0.0002|  <0.0002
— | <0.0001 — —|  <0.0001 — —| <0.0001  <0.0001  <0.0001
— | <0.0001 — —|  <0.0001 — —| <0.0001  <0.0001  <0.0001
— | <0.0001 — —|  <0.0001 — —| <0.0001  <0.0001  <0.0001
— | <0.0001 — —|  <0.0001 — —|  <0.0001 <0.0001  <0.0001
— <0. 06 — — <0. 06 — — 0.06 <0. 06 <0. 06
— <0. 002 — — <0. 002 — — <0. 002 <0. 002 <0. 002
— | 0.0047 — —| 0.0042 — — 0.013 0. 0042 0.0073
— 0. 003 — — 0. 002 — — 0. 006 0. 002 0. 004
— | 0.0017 — —| 0.0016 — —|  0.0017 0.0013 0.0015
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— 0.010 — —| 0.0094 — — 0. 020 0. 0094 0.013
— 0. 003 — — 0. 004 — — 0. 009 0. 003 0. 006
— | 0.0039 — —| 0.0036 — —| 0.0055 0. 0036 0. 0044
— | 0.0001 — —|  <0.0001 — —| 0.0001 <0.0001  <0.0001
— <0. 002 — — <0. 002 — — 0. 003 <0. 002 <0. 002
— <0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005
— 0.02 — — 0.02 — — 0.03 0.02 0.03
— <0.01 — — <0. 01 — — <0.01 <0. 01 <0.01
— <0.01 — — <0. 01 — — <0.01 <0. 01 <0.01
— 6.8 — — 7.8 — — 7.8 6.8 7.4
— <0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005
6.6 6.4 7.0 7.8 7.7 7.4 7.1 10 6.4 7.6
— 62 — — 68 — — 68 60 63
— 125 — — 125 — — 125 108 118
— <0.01 — — <0. 01 — — <0.01 <0. 01 <0. 01
<0. 000001  0.000001 = 0.000002 | 0.000001 = 0.000001 | 0.000002 | 0.000001 | 0.000002 | <0.000001 0.000001
<0.000001| <0.000001 <0.000001| <0. 000001 <0.000001 0.000001 | <0.000001| 0.000002 | <0.000001 <0.000001
— <0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005
— | <0.0005 — —|  <0.0005 — —|  <0.0005  <0.0005  <0.0005
0.7 0.3 0. 4 0.4 0.5 0.6 0. 4 0.7 0.3 0.5
7.5 7.3 7.3 7.5 7.6 7.6 7.6 7.6 7.3 7.5
Bl | BEaL ) BEAL | BEAL ) BEWAaL BEALL | AWARL — — HEL
Bl | BEaL ) BEAL | BEAaL ) BEWAaL BEALL | BAWARL HBERL
0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 0.5 <0.5
<0. 1 0.1 <0. 1 <0. 1 <0. 1 0.1 <0. 1 <0. 1 <0.1 0.1
0.6 0.7 0.8 0.7 0.6 0.7 0.7 0.8 0.5 0.7
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3 RO KERMA
(4) BB EFTE N
(2) BYEFROMERE

@  RAR (MR K Y %)

% K s A H H28.4.12 H28.5.17  H28.6.14 H28.7.12 H28.8.23
Ty FE VR TZEONARAEY (mg/L) <0. 0003 — — | <0.0003 —
v 7 v kW E O AEY (mg/L)|  <0.0002 — —| <0.0002 —
=y "NV kO EOWHAEWY (mg/L) <0. 001 — — <0.001 —
L,2- ¥ 7 w v = & v (mg/L)|  <0.0001 — — <0.0001 —
~ JL T v (mg/L)]  0.0002 — — | 0.0004 —
THEANVNEY (- F LN F L) (mg/L) <0. 001 — — <0.001 —
i H F# i (mg/L) <0. 06 — — 0. 06 —
s muw 7k b= KrDU (mg/L) <0. 001 — — 0. 002 —
W ok 7 = 5 - ) (mg/L) 0. 004 — — 0. 008 —
s 3K $H <0. 001 — — 0. 005 —
il Hfe R i3 (mg/L) 1.1 — — 1.4 —
LLlI- Y 7 vwow x X v (mg/L) <0. 0001 — — <0.0001 —
A F ) -t- 7 F )L —F )L (MBE) (mg/L)|  <0.0001 — — <0.0001 —
B K ®m E (T O N ) <1 <1 <1 <1 <1
BaERME (7450 71 %) -1.2 — — -1.2 —
e I g % A0 (fi& /mL) 0 2 2 0 4
L1- ¥ 7 v mr = F L v (mg/L)|  <0.0001 — — <0.0001 —
Bk = P 3 iful (MPN/100mL) — — — — —
£ b ¥ W B R E R & (mg/L) — — — — —
b 17 043 3 (mg/L) — - — - -
v = v P e (MPN/L) - - - - -
I = i3 3F fia (MPN/L) — — — — —
PN 1% B (MPN/100mL) 0 0 0 0 0
* O M W fH R (MPN/100mL) — — — — —
7 v ' = 7 B E # (mg/L) — - — — —
V) JL > 7 VA (mg/L) 16 — — 17 —
~ J 7 > v A (mg/L) 4.6 — — 4.3 —
it iy A 7 N (mg/L) 21 — — 28 —
AN - AN 4 - (mg/L) — — — — —
b 7 JL 7 ) i (mg/L) 39 — — 33 —
o = 5 H R (mS/m) 16. 4 16. 8 16.9 16.7 15.5
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H28.9.13 | H28.10.18 | H28. 11. 15 H28.12. 13 | H29.1.17 H29.2.21 | H29. 3. 14 K /) D]

— <0. 0003 — — <0. 0003 — — <0. 0003 <0. 0003 <0. 0003
— <0. 0002 — — <0. 0002 — — <0. 0002 <0. 0002 <0. 0002
— <0.001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— <0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001
— 0. 0002 — — <0. 0001 — — 0. 0004 <0. 0001 0. 0002
— <0.001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— <0. 06 — — <0. 06 — — <0. 06 <0. 06 <0. 06
— <0. 001 — — 0. 001 — — 0. 002 <0. 001 <0. 001
— 0. 002 — — 0. 002 — — 0. 008 0. 002 0. 004
— <0. 001 — — <0. 001 — — 0. 005 <0. 001 0.001
— 2.6 — — 1.8 — — 2.6 1.1 1.7
— <0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001
— <0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1
— -1.4 — — -1.2 — — -1.2 -1.4 -1.3
3 0 0 0 0 0 0 4 0 1
— <0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001
0 0 0 0 0 0 0 0 0 0
— 17 — — 18 — — 18 16 17
— 4.6 — — 5.4 — — 5.4 4.3 4.7
— 26 — — 28 — — 28 21 26
— 35 — — 39 — — 39 33 37

16.0 16.6 18.1 19.0 18.6 17.2 16.9 19.0 15.5 17.1
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3 MKIEEROKERE
(4) BeaKEE EFE N

(2) BbLZ K OV R AL
© _ Eil_ (e MR K R)

£ 7K A A H H28.4.12  H28.7.12 H28.10. 18] H29. 1. 17 iSON B/ ey
L3-Y s wow7° 5A” v (DD (mg/L)| <0.0002 <0.0002 <0.0002| <0.0002] <0.0002 <0.0002  <0.0002
2,2-DPA(C % 5 K v ) (mg/L)| <0.0002| 0.0004 | <0.0002 <0.0002| 0.0004 @ <0.0002  <0.0002
2,4-D (2, 4-PA) (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001| <0.0001  <0.0001  <0.0001

EPN (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
MCPA (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005

7 D4 o 7 2 (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 + 7 - — L (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 k 7 D4 > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 = = & 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 3 ~ 7 2 (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
7 7 V4 = — JL (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
4 vV % % F  F v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
4 Y 7 = v & Z (mg/L)| <0.00001 <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A4 YV 7 v JH o 7 MIPC) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4V 7 m F F 5 v (IPT) (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
4 7 m N & A (IBP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
S4 v X 7 7 7 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
= 2 7 v H A 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= ¥ 4 7 = v & % (EDDP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
= 7 = v 7 v oy 7 A (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
T RYDTY— (= ra A —)) (mg/L)| <0.00001| <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
TURALT 7 (R EY) (mg/L)| <0.0001  <0.0001  <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
F x b ¥y wm A &K » (mg/L)| <0.0001] <0.0001 <0.0001  <0.0001| <0.0001| <0.0001  <0.0001
F % 2 v # (FH K 81 ) (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A U A2 b wm B (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Vi =z VA ) 2 (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
B 7 = v A k m — JL (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
b A )] b (NAC) (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
/Y VR A = A R (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
il JL N 7 7 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
X /J 7 5 I »  (ACN) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
¥ ¥ VA b > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 2 I = v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7y w A 7 v v 7 (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 m ) = kv 7 = » (CNP) (mg/L)| <0.00001 <0.00001 <0.00001/ <0.00001| <0.00001 <0.00001 <0.00001
y wm g U R Z (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
7 m wm % m = )L (TPN) (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
Vs 7 7 D4 > (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
> 7 7 & A (CYAP) (mg/L)| <0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v 7 =4 N (DCMU)  (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
v 7 m X = 2 (OBN) (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 v A K Z  (DDVP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
ALK B FAFF A ) (mg/L)| <0.00001] <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v A % = JL (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
v R oy 77 F b (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
o < v N (CAT) (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v A 2R F U (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
v A k Ea — F (mg/L)|[ <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
D A k Y ¥ (mg/L)| <0.0001/ <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y A EF L — b (mg/L)] <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v A 7 ¥ J > (mg/L)| <0.00001| <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
s A N =4 > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
¥ 7 v = JL (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
¥ 7 7 2 (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F 2 P4 Vi JL 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
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3 AR O KB

(4) SfAKEEETEN
(2) BbLZ K OV R AL

@  Ei (EZEFEET K R)

B 7K F A H H28.4.12  H28.7.12 H28.10.18 H29.1.17| &K BN TP

F F 7 7 F — b A F L (mg/L)]| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
F A N v H o 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F v 7 A v 7 (MBPMC) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
& Y 4 = v b (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
b U 7 wm v A& > (DEP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
YUY 75 Y — b (mg/L)| <€0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
U 7 v F U v (mg/L)| <€0.0001  <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
+ 7 5: a N F (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
= ~2 = = Z (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v Y % v 7 = v (mg/L)] €0.00001] <0.00001 <0.00001] <0.00001f <0.00001 <0.00001 <0.00001
IV U x—F(EF Y L—F) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
vy ¥ 7 = v F F v (mg/L)]| €0.00001] <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
vy 7 F H A F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
=5 = * = > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 4 7 o = /v (mg/L)|<0.000005 <0.000005 <0.000005|<0.000005}<0. 000005 <0. 000005 <0. 000005
7 = = bk v F F > (MEP) (mg/L)[ <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 = /) 7 5 Jv 7 (BPMC) (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 = ¥ F F >  (MPP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 = ¥ bk = — I (PAP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
7 = v b F ¥ I F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
7 P 7 A F (mg/L)|[ <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 i v = — v (mg/L)[ <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
7 vl 2 2D Z (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 7 w7 = ¥ v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
7 N T v + 2 (mg/L)|  <0.0001  <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
7 v F T 7 v — b (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
7 o D 2 R > (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 = Ea F 2 Z (mg/L)| <€0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 o\ ¥ =2 F Y — b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 o = A I F (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001f <0.0001 <0.0001 _ <0.0001
7 o N F Y — b (mg/L)[ <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 = o 7 F F (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
~ J 2 Jb (mg/L)| <0.0002  <0.0002] <0.0002] <0.0002] <0.0002 <0.0002 <0.0002
~ N D2 7 = > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
N v Y v vy wm v (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001  <0.0001
~N v Y 7 = F v 7 (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001[ <0.00001 <0.00001 <0.00001
~ N Vi v > (mg/L)| <0.0001] <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
~ v F 4 X Z U v (mg/L)| <0.0001 <0.0001  <0.0001| <0.0001 <0.0001 <0.0001  <0.0001
N v 7 7 (mg/L)| <0.0001] <0.0001  <0.0001 <0.0001| <0.0001] <0.0001  <0.0001
N 7T Y v (NARa Y ) (mg/L)] <0.0001  <0.0001  <0.0001] <0.0001f <0.0001 <0.0001  <0.0001
N v 7 L+ — b (mg/L)| <£0.0001] <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
A X F 7 ¥ — b (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
~ 53 F 4 v (= F Y v ) (mg/L)]| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A = 7 vy 7 (MCPP) (mg/L)[ <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
A v N Jb (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001]| <0.0001 <0.0001 <0.0001
A v 7 * > b (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001[ <0.0001 <0.0001| <0.0001
A F K F A&~ (DMIP) (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
A F L F A4 i v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
A 2 / A2 b m B » (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001[ <0.0001 <0.0001  <0.0001
A N ) 7 Y > (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A 7 = F & v b (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
A 7 = = v (mg/L)|[ <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
£ ) X — b (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
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EPN 7 ¥ M > (mg/L)| <0.00001 <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A4 Y % H F F o F % YV v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
A4 YV 7 = & A F F YV (mg/L)[<0.000005 <0.000005 <0.000005| <0.000005(<0. 000005 <0.000005|<0. 000005
= v K 2 o 7 = — bk (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
CNP- 7 2 J & (mg/L) [<0.000001|<0. 000001 <0. 000001 <0. 000001|<0. 000001 <0. 000001 <0. 000001
7w v U R A A F VY v (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
¥ A4 T ¥ v A ¥ YV » (mg/L)| <0.00001 <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 = bruaFF A F Y (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
MPP 2 L &R F 3 R (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP A JL 7 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
MPP 7 ¥ V] > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
MPP F &% ¥V v Z L & % 2 F (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP #+ % YV v Z b & ¥ (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 % I &K A2 F F vV v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 v & 7 F K F 7 v F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
~ 5 F 4 v F % v v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 v x X ZF F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 I X 7 wvw 7 U F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F 7 a  F Y — L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
=4 Z 7 =t i 2 (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001] <0.0001  <0.0001 <0.0001
7 L Z2 A 7 7 I F (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
va = < D JL (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
~ v b F B Y v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
gz va =4 v (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A 5 7 v — L (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001f <0.0001 <0.0001 <0.0001
7 X vV 5 L -5 X F L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 A b ) v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
A4 F X T 4 F (mg/L)| <0.0001 <0.0001] <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
4 ~ Y %2 a7 v v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 = =@ F Y — P (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= F ¥ ¥ A o 7 w v (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
-z + X H = F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F X ¥ 7 A F 4 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 ¥ VA 2 JL (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
X ¥ v &Kk v F = F b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
y w  F 7 = ¥ v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 w < 7 = J ¥ K (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
J a gL Z — )Y A F L (ICTP) (mg/L)| <0.0001  <0.0001 <0.0001] <0.0001f <0.0001 <0.0001 <0.0001
7 m ) B U &K X A F o (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
Y 7 v 7 = v F F v (ECP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
D 7 =t A ¥ v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 v A 7 v vy 7 (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
v ) Z ) 7 wm v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
v J 7 7 7 > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
Y 7 = J = F YV — b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 g X v X um v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
v 7 m a2 F Y — b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
D - =4 v = JU (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001f <0.0001 <0.0001 <0.0001
v A =z Y — b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
Y A F A ¥ r & R (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
v 5 7 g F 7 = v (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
% N A ¥ ) > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
F v 2 v 7 J R (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
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F 7 A % B A (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
¥ 4 I a 3 F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F hF 7 v R & (CWP) (mg/L)| <0.0001| <0.0001 <0.0001  <0.0001| <0.0001| <0.0001  <0.0001
F ~ 5 a2 F ¥ — L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
> 7 7 = ) ¥ K (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
FU % FH %y 7 = F L (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
KU 7 o I Y — b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
> 75 w7 = F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= a N =4 5 2 (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
Ny ow 7k 5 Y — b o(mg/L)| <0.0001  <0.0001 <€0.0001 <0.0001] <0.0001 <0.0001  <0.0001
=4 A N =4 D v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
5 Y 2 7 m x Foo(mg/L)| <0.0001  <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
vy I Ny 7 A F A (mg/L)| <0.0001 <0.0001| <0.0001  <0.0001| <0.0001| <0.0001  <0.0001
U X Rk A2 A F L (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
- 7 A b = JL (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
7 7 ¥ R v 7 (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 w2 = J  (DCPA) (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
A = 2% & 2 (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 m % L ¥ vk (BPPS) (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
7 v R F A (PHO) (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
-7 = A b ) v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
N X A4 F v T (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
N * D% 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
R 2 # ) F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
£ /7 o P& & (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
DI = a = > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 Y % ¥ 2 F v v r (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
4 A = D% 7 v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Vi = =4 kS 7 (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
> a o =t v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F = A 7 wm  — JL (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
kv 7 v &K X2 X F b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
N m AR b 7 1w v A F L (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
v 7 = ) v 7 A (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
vy 7 r % ¥ 7 = v (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 5 ¥ =z g 7 v r (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 b S 5 = JL (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
~ vz ) K (SAP) (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
N v A 7 vm v A F L (mg/L)] <0.0001  <0.0001  <€0.0001 <0.0001] <0.0001 <0.0001  <0.0001
R + A JL (mg/L)| <0.0002  <0.0002| <0.0002| <0.0002| <0.0002 <0.0002  <0.0002
ML Z ok 2 AFLAXY 2 (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F * 4 ¥ 7 Y v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 v A b ¥ ¥ = J (mg/L)| <0.0001 <0.0001 <0.0001/ <0.0001| <0.0001 <0.0001 <0.0001
Ny ZoEenr-2-7 % =F (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= + w 7 = ¥ (NIP) (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
A = % D% > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
- 4 + & U % — b (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
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24 7K A H H H28.4.12 H28.5.17 | H28.6.14 | H28.7.12 @ H28.8.23
PN iz i) N i) = &
= & (C) 13.1 20.0 25.0 28.5 24.0
7K ) (©) 14.2 19.0 21.5 24.0 26. 0
— 154 gk ({8 /mL) 0 0 0 0 0
X % (MPN/100mL) 0 0 0 0 0
H KRIvAkOZTONEY (mg/L) <0. 0003 — — <0. 0003 —
KR K O F O b A& W (mg/L)| <0.00005 — — | <0.00005 —
t L v kX ZE O AEWY (mg/L) <0. 001 — — <0. 001 —
m k O F o & W (mg/L) <0. 001 — — <0. 001 —
t # Kk Y F O b A W (mg/L) <0. 001 — — <0. 001 -
A | 72 = T N (A S ¥/ (mg/L) <0. 005 — — <0. 005 —
i fit§ 1S HE = = (mg/L) <0. 004 — — <0. 004 —
T MM A v RNk T v (mg/L) <0. 001 — — <0. 001 —
W ERZNOEMBRERE (mg/L) 1.0 — — 0.72 —
7 v F K O EF 0/ E W (mg/L) <0. 08 — — <0. 08 —
r v F L O EF 0 E W (mg/L) 0.01 — — 0.01 —
| #H 1t R F# (mg/L) <0. 0001 — — | <0.0001 —
1, 4- D% 7 e va N (mg/L) <0. 001 — — <0. 001 —
vA-,2-YVZmuxF LK
N A-L2-Y /ra T L (mg/L) <0. 0002 — — | <0.0002 —
Y = = 2o (mg/L) <0. 0001 — — | <0.0001 —
S r 5 Z v owm x F L v (mg/L) <0. 0001 — — | <0.0001 —
kYU Y/ v v = F L o (mg/L) <0. 0001 — — | <0.0001 —
~ N + N (mg/L) <0. 0001 — — | <0.0001 —
ey 3 [ (mg/L) <0. 06 — — 0. 06 —
Vi =t = HiE [ (mg/L) <0. 002 — — <0. 002 —
7 = = R JL VA (mg/L) 0.0072 — — 0.011 —
v 4 = = (3 i (mg/L) 0. 005 — — 0. 004 —
Y 7 v % 7 u na A K v (mg/L)|  0.0015 — —|  0.0016 —
= S [ (mg/L) <0. 001 — — <0. 001 —
BN U N m A X (mg/L) 0.014 — — 0.018 —
k ) 7 = =S (A (mg/L) 0. 006 — — 0. 007 —
=T S A = = S S (mg/L)|  0.0048 — —|  0.0052 —
va = £ i I N (mg/L)|  0.0001 — —| 0.0001 —
A v AN 7 L F b K (mg/L) 0. 002 — — 0. 002 —
wmo k™ o kAW (mg/L) <0. 005 — — <0. 005 —
TLI=T AR OREDONAEY (mg/L) 0.03 — — 0.03 —
% K O Fx o f{ & W (mg/L) <0.01 — — <0. 01 —
g K O F o kA W (mg/L) 0. 01 — — <0.01 —
FT PV U LAKEOEZEDOIREDY (mg/L) 7.6 — — 7.5 —
<~ v H kRN EOIWEW (mg/L) <0. 005 — — <0. 005 —
H (4 W A 7 N (mg/L) 7.8 10 7.6 7.5 8.4
NV T, TR NEGEE) (mg/L) 58 — — 61 —
7 i 53 E{g Y (mg/L) 113 — — 120 —
= 4 4 v /A om 3w A (mg/L) <0.01 — — <0. 01 —
v - 7 3 N N (mg/L) | 0.000002 | 0.000001 | 0.000001 = 0.000001 | 0.000001
- A F A4 VKL R F — L (mg/L) | <0.000001 0.000001 | 0.000002 | 0.000002 = 0.000002
FE 4 0 v K om W M A (mg/L) <0. 005 — — <0. 005 —
7 - J — L $A (mg/L) <0. 0005 — — | <0.0005 —
H#Y (&AM xR E (T0C) O &) (mg/L) 0.5 0.4 0.5 0.5 0.5
p H i 7.6 7.6 7.6 7.6 7.5
S Bl | BEaL ) BEAL | BEaL | BEWAeL
= = HEhL | BE2L BEAelL | BEELRL | BEAL
&) 3 i3 0.5 <0.5 0.5 0.5 0.5
) i3 (B£) 0.1 €0. 1 0.1 0.1 0.1
153 5)’ ey e (mg/L) 0.6 0.6 0.5 0.6 0.6
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128.9. 13 | H28. 10. 18 | H28. 11. 15 | H28. 12. 13| H29.1.17 @ H29.2.21 | H29.3. 14 [N e/l S
i fif & i i fif £ —
21.0 23.5 16.5 12.0 9.0 8.0 .0 28.5 7.0 17.3
23.5 20.3 16.0 11.0 10.1 9.0 11.0 26.0 9.0 17.1
0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
<0. 0003 — <0. 0003 —|  <0.0003  <0.0003|  <0.0003
— | <0.00005 — —|  <0.00005 — —| <0.00005 <0.00005 <0.00005
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— <0. 001 — — <0. 001 — — <0.001 <0. 001 <0. 001
— <0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005
— <0. 004 — — <0. 004 — — <0. 004 <0. 004 <0. 004
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— 1.3 — — 1.2 — — 1.3 0.72 1.1
— <0.08 — — <0. 08 — — <0. 08 <0. 08 <0. 08
— 0.01 — — 0.01 — — 0.01 0.01 0.01
— | <0.0001 — —|  <0.0001 — —| <0.0001  <0.0001  <0.0001
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
—| <0.0002 — —|  <0.0002 — —|  <0.0002  <0.0002|  <0.0002
— | <0.0001 — —|  <0.0001 — —| <0.0001  <0.0001  <0.0001
— | <0.0001 — —|  <0.0001 — —| <0.0001  <0.0001  <0.0001
— | <0.0001 — —|  <0.0001 — —| <0.0001  <0.0001  <0.0001
— | <0.0001 — —|  <0.0001 — —|  <0.0001 <0.0001  <0.0001
— <0. 06 — — <0. 06 — — <0. 06 <0. 06 <0. 06
— <0. 002 — — <0. 002 — — <0. 002 <0. 002 <0. 002
— | 0.0051 — —| 0.0048 — — 0.011 0. 0048 0. 0070
— 0. 003 — — 0. 003 — — 0. 005 0. 003 0. 004
— | 0.0019 — —| 0.0017 — —| 0.0019 0.0015 0.0017
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— 0.011 — — 0.010 — — 0.018 0.010 0.013
— 0. 004 — — 0. 004 — — 0. 007 0. 004 0. 005
— | 0.0042 — —| 0.0040 — —| 0.0052 0. 0040 0. 0046
— | 0.0001 — —|  <0.0001 — —| 0.0001 <0.0001  <0.0001
— <0. 002 — — <0. 002 — — 0. 002 <0. 002 <0. 002
— <0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005
— 0.02 — — 0.02 — — 0.03 0.02 0.03
— <0.01 — — <0. 01 — — <0.01 <0. 01 <0.01
— <0.01 — — <0. 01 — — <0.01 <0. 01 <0.01
— 6.8 — — 7.9 — — 7.9 6.8 7.5
— <0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005
6.8 6.4 7.5 7.9 7.9 7.8 7.5 10 6.4 7.8
— 61 — — 67 — — 67 58 62
— 124 — — 126 — — 126 113 121
— <0.01 — — <0. 01 — — <0.01 <0. 01 <0. 01
0.000001 = 0.000001 = 0.000002 | 0.000001 0.000002 | 0.000002 @ 0.000001 | 0.000002 | 0.000001 0.000001
<0.000001| <0.000001 <0.000001| <0. 000001 <0.000001 0.000001 | <0.000001| 0.000002 | <0.000001 <0.000001
— <0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005
— | <0.0005 — —|  <0.0005 — —|  <0.0005  <0.0005  <0.0005
0.4 0.3 0. 4 0.4 0.5 0.6 0.5 0.6 0.3 0.5
7.4 7.4 7.3 7.5 7.6 7.7 7.6 7.7 7.3 7.5
Bl | BEaL ) BEAL | BEAL ) BEWAaL BEALL | AWARL — — HEL
Bl | BEaL ) BEAL | BEAaL ) BEWAaL BEALL | BAWARL HBERL
0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 0.5 <0.5
<0. 1 0.1 <0. 1 <0. 1 <0. 1 0.1 <0. 1 <0. 1 <0.1 0.1
0.7 0.7 0.7 0.8 0.6 0.7 0.7 0.8 0.5 0.7
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3 RO KERMA
(4) BB EFTE N
(2) BYEFROMEMRE

© it (MR K Y %)

% K s A H H28.4.12 H28.5.17  H28.6.14 H28.7.12 H28.8.23
Ty FE VR TZEONARAEY (mg/L) <0. 0003 — — | <0.0003 —
v 7 v kW E O AEY (mg/L)|  <0.0002 — —| <0.0002 —
=y "NV kO EOWHAEWY (mg/L) <0. 001 — — <0.001 —
L,2- ¥ 7 w v = & v (mg/L)|  <0.0001 — — <0.0001 —
~ JL T v (mg/L)]  0.0002 — —| 0.0003 —
THEANVNEY (- F LN F L) (mg/L) <0. 001 — — <0.001 —
i H F# i (mg/L) <0. 06 — — 0. 06 —
s muw 7k b= KrDU (mg/L) <0. 001 — — 0. 002 —
W ok 7 = 5 - ) (mg/L) 0.003 — — 0. 006 —
s 3K $H <0. 001 — — 0. 005 —
g e R i3 (mg/L) 0.9 — — 1.3 —
LLlI- Y 7 vwow x X v (mg/L) <0. 0001 — — <0.0001 —
A F ) -t- 7 F )L —F )L (MBE) (mg/L)|  <0.0001 — — <0.0001 —
B K ®m E (T O N ) <1 <1 <1 <1 <1
BaERME (7450 71 %) -1.2 — — -1.1 —
e I g % A0 (fi& /mL) 0 0 0 0 1
L1- ¥ 7 v mr = F L v (mg/L)|  <0.0001 — — <0.0001 —
Bk = P 3 iful (MPN/100mL) — — — — —
£ b ¥ W B R E R & (mg/L) — — — — —
b 17 043 3 (mg/L) — - — - -
v = v P e (MPN/L) - - - - -
I = i3 3F fia (MPN/L) — — — — —
PN 1% B (MPN/100mL) 0 0 0 0 0
* O M W fH R (MPN/100mL) — — — — —
7 v ' = 7 B E # (mg/L) — - — — —
V) JL > 7 VA (mg/L) 16 — — 17 —
~ J 7 > v A (mg/L) 4.5 — — 4.6 —
it iy A 7 N (mg/L) 21 — — 30 —
AN - AN 4 - (mg/L) — — — — —
b 7 JL 7 ) i (mg/L) 36 — — 32 —
o = 5 H R (mS/m) 16. 0 16. 4 16. 4 16.9 17.7
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H28.9.13 | H28.10.18 | H28. 11. 15 H28.12. 13 | H29.1.17 H29.2.21 | H29. 3. 14 K /) D]

— <0. 0003 — — <0. 0003 — — <0. 0003 <0. 0003 <0. 0003
— <0. 0002 — — <0. 0002 — — <0. 0002 <0. 0002 <0. 0002
— <0.001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— <0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001
— 0. 0002 — — 0. 0002 — — 0. 0003 0. 0002 0. 0002
— <0.001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— <0. 06 — — <0. 06 — — <0. 06 <0. 06 <0. 06
— <0. 001 — — 0. 001 — — 0. 002 <0. 001 <0. 001
— 0. 002 — — 0. 002 — — 0. 006 0. 002 0.003
— 0. 002 — — 0. 002 — — 0. 005 <0. 001 0. 002
— 1.6 — — 2.2 — — 2.2 0.9 1.5
— <0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001
— <0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1
— -1.4 — — -1.3 — — —-1.1 -1.4 -1.3
0 0 0 0 0 0 0 1 0 0
— <0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001
0 0 0 0 0 0 0 0 0 0
— 17 — — 18 — — 18 16 17
— 4.7 — — 5.4 — — 5.4 4.5 4.8
— 26 — — 28 — — 30 21 26
— 32 — — 31 — — 36 31 33

15.5 16. 4 16.6 18.8 18.4 17.3 16.8 18.8 15.5 16.9
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3 MKIEEROKERE
(4) BeaKEE EFE N

(2) BbLZ K OV R AL
@ - (B ZEFMEMEE K R)

£ 7K A A H H28.4.12  H28.7.12 H28.10. 18] H29. 1. 17 iSON B/ ey
L3-Y s wow7° 5A” v (DD (mg/L)| <0.0002 <0.0002 <0.0002| <0.0002] <0.0002 <0.0002  <0.0002
2,2-DPA( % 5 K v ) (mg/L)| <0.0002| 0.0004 | 0.0002  0.0002 [ 0.0004 | <0.0002| 0.0002
2,4-D (2, 4-PA) (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001| <0.0001  <0.0001  <0.0001

EPN (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
MCPA (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005

7 D4 o 7 2 (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 + 7 - — L (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 k 7 D4 > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 = = & 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 3 ~ 7 2 (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
7 7 V4 = — JL (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
4 vV % % F  F v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
4 Y 7 = v & Z (mg/L)| <0.00001 <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A4 YV 7 v JH o 7 MIPC) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4V 7 m F F 5 v (IPT) (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
4 7 m N & A (IBP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
S4 v X 7 7 7 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
= 2 7 v H A 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= ¥ 4 7 = v & % (EDDP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
= 7 = v 7 v oy 7 A (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
T RYDTY— (= ra A —)) (mg/L)| <0.00001| <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
TURALT 7 (R EY) (mg/L)| <0.0001  <0.0001  <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
F x b ¥y wm A &K » (mg/L)| <0.0001] <0.0001 <0.0001  <0.0001| <0.0001| <0.0001  <0.0001
F % 2 v # (FH K 81 ) (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A U A2 b wm B (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Vi =z VA ) 2 (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
B 7 = v A k m — JL (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
b A )] b (NAC) (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
/Y VR A = A R (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
il JL N 7 7 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
X /J 7 5 I »  (ACN) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
¥ ¥ VA b > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 2 I = v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7y w A 7 v v 7 (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 m ) = kv 7 = » (CNP) (mg/L)| <0.00001 <0.00001 <0.00001/ <0.00001| <0.00001 <0.00001 <0.00001
y wm g U R Z (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
7 m wm % m = )L (TPN) (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
Vs 7 7 D4 > (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
> 7 7 & A (CYAP) (mg/L)| <0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v 7 =4 N (DCMU)  (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
v 7 m X = 2 (OBN) (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 v A K Z  (DDVP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
ALK B FAFF A ) (mg/L)| <0.00001] <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v A % = JL (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
v R oy 77 F b (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
o < v N (CAT) (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v A 2R F U (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
v A k Ea — F (mg/L)|[ <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
D A k Y ¥ (mg/L)| <0.0001/ <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y A EF L — b (mg/L)] <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v A 7 ¥ J > (mg/L)| <0.00001| <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
s A N =4 > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
¥ 7 v = JL (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
¥ 7 7 2 (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F 2 P4 Vi JL 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
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3 AR O KB

(4) SfAKEEETEN
(2) BbLZ K OV R AL

@ bt (e EFEET K R)

B 7K F A H H28.4.12  H28.7.12 H28.10.18 H29.1.17| &K BN TP

F F 7 7 F — b A F L (mg/L)]| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
F A N v H o 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F v 7 A v 7 (MBPMC) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
& Y 4 = v b (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
b U 7 wm v A& > (DEP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
YUY 75 Y — b (mg/L)| <€0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
U 7 v F U v (mg/L)| <€0.0001  <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
+ 7 5: a N F (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
= ~2 = = Z (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v Y % v 7 = v (mg/L)] €0.00001] <0.00001 <0.00001] <0.00001f <0.00001 <0.00001 <0.00001
IV U x—F(EF Y L—F) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
vy ¥ 7 = v F F v (mg/L)]| €0.00001] <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
vy 7 F H A F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
=5 = * = > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 4 7 o = /v (mg/L)|<0.000005 <0.000005 <0.000005|<0.000005}<0. 000005 <0. 000005 <0. 000005
7 = = bk v F F > (MEP) (mg/L)[ <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 = /) 7 5 Jv 7 (BPMC) (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 = ¥ F F >  (MPP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 = ¥ bk = — I (PAP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
7 = v b F ¥ I F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
7 P 7 A F (mg/L)|[ <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 i v = — v (mg/L)[ <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
7 vl 2 2D Z (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 7 w7 = ¥ v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
7 N T v + 2 (mg/L)|  <0.0001  <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
7 v F T 7 v — b (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
7 o D 2 R > (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 = Ea F 2 Z (mg/L)| <€0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 o\ ¥ =2 F Y — b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 o = A I F (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001f <0.0001 <0.0001 _ <0.0001
7 o N F Y — b (mg/L)[ <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 = o 7 F F (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
~ J 2 Jb (mg/L)| <0.0002  <0.0002] <0.0002] <0.0002] <0.0002 <0.0002 <0.0002
~ N D2 7 = > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
N v Y v vy wm v (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001  <0.0001
~N v Y 7 = F v 7 (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001[ <0.00001 <0.00001 <0.00001
~ N Vi v > (mg/L)| <0.0001] <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
~ v F 4 X Z U v (mg/L)| <0.0001 <0.0001  <0.0001| <0.0001 <0.0001 <0.0001  <0.0001
N v 7 7 (mg/L)| <0.0001] <0.0001  <0.0001 <0.0001| <0.0001] <0.0001  <0.0001
N 7T Y v (NARa Y ) (mg/L)] <0.0001  <0.0001  <0.0001] <0.0001f <0.0001 <0.0001  <0.0001
N v 7 L+ — b (mg/L)| <£0.0001] <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
A X F 7 ¥ — b (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
~ 53 F 4 v (= F Y v ) (mg/L)]| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A = 7 vy 7 (MCPP) (mg/L)[ <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
A v N Jb (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001]| <0.0001 <0.0001 <0.0001
A v 7 * > b (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001[ <0.0001 <0.0001| <0.0001
A F K F A&~ (DMIP) (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
A F L F A4 i v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
A 2 / A2 b m B » (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001[ <0.0001 <0.0001  <0.0001
A N ) 7 Y > (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A 7 = F & v b (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
A 7 = = v (mg/L)|[ <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
£ ) X — b (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
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EPN 7 ¥ M > (mg/L)| <0.00001 <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A4 Y % H F F o F % YV v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
A4 YV 7 = & A F F YV (mg/L)[<0.000005 <0.000005 <0.000005| <0.000005(<0. 000005 <0.000005|<0. 000005
= v K 2 o 7 = — bk (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
CNP- 7 2 J & (mg/L) [<0.000001|<0. 000001 <0. 000001 <0. 000001|<0. 000001 <0. 000001 <0. 000001
7w v U R A A F VY v (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
¥ A4 T ¥ v A ¥ YV » (mg/L)| <0.00001 <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 = bruaFF A F Y (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
MPP 2 L &R F 3 R (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP A JL 7 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
MPP 7 ¥ V] > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
MPP F &% ¥V v Z L & % 2 F (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP #+ % YV v Z b & ¥ (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 % I &K A2 F F vV v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 v & 7 F K F 7 v F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
~ 5 F 4 v F % v v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 v x X ZF F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 I X 7 wvw 7 U F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F 7 a  F Y — L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
=4 Z 7 =t i 2 (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001] <0.0001  <0.0001 <0.0001
7 L Z2 A 7 7 I F (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
va = < D JL (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
~ v b F B Y v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
gz va =4 v (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A 5 7 v — L (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001f <0.0001 <0.0001 <0.0001
7 X vV 5 L -5 X F L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 A b ) v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
A4 F X T 4 F (mg/L)| <0.0001 <0.0001] <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
4 ~ Y %2 a7 v v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 = =@ F Y — P (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= F ¥ ¥ A o 7 w v (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
-z + X H = F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F X ¥ 7 A F 4 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 ¥ VA 2 JL (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
X ¥ v &Kk v F = F b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
y w  F 7 = ¥ v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 w < 7 = J ¥ K (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
J a gL Z — )Y A F L (ICTP) (mg/L)| <0.0001  <0.0001 <0.0001] <0.0001f <0.0001 <0.0001 <0.0001
7 m ) B U &K X A F o (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
Y 7 v 7 = v F F v (ECP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
D 7 =t A ¥ v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 v A 7 v vy 7 (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
v ) Z ) 7 wm v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
v J 7 7 7 > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
Y 7 = J = F YV — b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 g X v X um v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
v 7 m a2 F Y — b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
D - =4 v = JU (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001f <0.0001 <0.0001 <0.0001
v A =z Y — b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
Y A F A ¥ r & R (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
v 5 7 g F 7 = v (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
% N A ¥ ) > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
F v 2 v 7 J R (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
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F 7 A % B A (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
¥ 4 I a 3 F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F hF 7 v R & (CWP) (mg/L)| <0.0001| <0.0001 <0.0001  <0.0001| <0.0001| <0.0001  <0.0001
F ~ 5 a2 F ¥ — L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
> 7 7 = ) ¥ K (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
FU % FH %y 7 = F L (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
KU 7 o I Y — b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
> 75 w7 = F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= a N =4 5 2 (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
Ny ow 7k 5 Y — b o(mg/L)| <0.0001  <0.0001 <€0.0001 <0.0001] <0.0001 <0.0001  <0.0001
=4 A N =4 D v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
5 Y 2 7 m x Foo(mg/L)| <0.0001  <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
vy I Ny 7 A F A (mg/L)| <0.0001 <0.0001| <0.0001  <0.0001| <0.0001| <0.0001  <0.0001
U X Rk A2 A F L (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
- 7 A b = JL (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
7 7 ¥ R v 7 (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 w2 = J  (DCPA) (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
A = 2% & 2 (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 m % L ¥ vk (BPPS) (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
7 v R F A (PHO) (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
-7 = A b ) v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
N X A4 F v T (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
N * D% 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
R 2 # ) F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
£ /7 o P& & (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
DI = a = > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 Y % ¥ 2 F v v r (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
4 A = D% 7 v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Vi = =4 kS 7 (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
> a o =t v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F = A 7 wm  — JL (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
kv 7 v &K X2 X F b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
N m AR b 7 1w v A F L (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
v 7 = ) v 7 A (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
vy 7 r % ¥ 7 = v (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 5 ¥ =z g 7 v r (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 b S 5 = JL (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
~ vz ) K (SAP) (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
N v A 7 vm v A F L (mg/L)] <0.0001  <0.0001  <€0.0001 <0.0001] <0.0001 <0.0001  <0.0001
R + A JL (mg/L)| <0.0002  <0.0002| <0.0002| <0.0002| <0.0002 <0.0002  <0.0002
ML Z ok 2 AFLAXY 2 (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F * 4 ¥ 7 Y v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 v A b ¥ ¥ = J (mg/L)| <0.0001 <0.0001 <0.0001/ <0.0001| <0.0001 <0.0001 <0.0001
Ny ZoEenr-2-7 % =F (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= + w 7 = ¥ (NIP) (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
A = % D% > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
- 4 b E VU % — b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
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24 7K A H H H28.4.12 H28.5.17 | H28.6.14 | H28.7.12 @ H28.8.23
PN iz i) N i) = &
= & (C) 17.0 20.0 24.5 26.0 29. 1
7K ) (©) 14.0 19. 4 21.0 23.5 26.5
— 154 gk ({8 /mL) 0 0 0 0 0
X % (MPN/100mL) 0 0 0 0 0
H KRIvAkOZTONEY (mg/L) — | <0.0003 — — <0. 0003
KR K O F O b A& W (mg/L) — | <0.00005 — — | <0.00005
t L v kX ZE O AEWY (mg/L) — <0. 001 — — <0. 001
m k O F o & W (mg/L) — <0. 001 — — <0. 001
t # Kk Y F O b A W (mg/L) — <0. 001 — — <0. 001
Nofio o v s b A W (mg/L) — <0. 005 — — <0. 005
i fid 1S HE = = (mg/L) — <0. 004 — — <0. 004
T MM A v RNk T v (mg/L) — <0. 001 — — <0. 001
W ERZNOEMBRERE (mg/L) — 0.90 — — 0.72
7 v F K O EF 0/ E W (mg/L) — 0.08 — — <0. 08
r v F L O EF 0 E W (mg/L) — 0.02 — — 0. 02
| #H 1t R F# (mg/L) — | <0.0001 — — <0.0001
1, 4- D% 7 e va N (mg/L) — <0. 001 — — <0. 001
vA-1,2-Y /eI Ly KR
NS A-1,2-Y /7 ruxF L (mg/L) —| <0.0002 — —| <0.0002
Y = = 2o (mg/L) — <0.0001 — — <0.0001
S r 5 Z v owm x F L v (mg/L) — <0.0001 — — <0.0001
kYU Y/ v v = F L o (mg/L) — <0.0001 — — <0.0001
~ N + N (mg/L) — <0.0001 — — <0.0001
ey 3 [ (mg/L) — <0. 06 — — 0.07
Vi =t = HiE [ (mg/L) — <0. 002 — — <0. 002
Y = = R L N (mg/L) — 0.012 — — 0. 025
v 4 = = (3 i (mg/L) — <0. 002 — — 0. 006
Y 7 v % 7 u na A K v (mg/L) —|0.0015 — —0.0017
= S [ (mg/L) — <0. 001 — — <0.001
BN U N m A X (mg/L) — 0.019 — — 0. 035
k ) 7 = =S (A (mg/L) — 0. 009 — — 0.017
=T S A = = S S (mg/L) — | 0.0056 — —0.0084
va = £ i I N (mg/L) — <0.0001 — — <0.0001
A v AN 7 L F b K (mg/L) — 0. 003 — — 0. 006
wmo k™ o kAW (mg/L) — <0. 005 — — <0. 005
TNLVI=2gAKEOZOREY (mg/L) — 0.03 - - 0.04
% K O Fx o f{ & W (mg/L) — <0.01 — — <0. 01
g K O F o kA W (mg/L) — <0.01 — — <0.01
FT PV U LAKEOEZEDOIREDY (mg/L) — 8.0 — — 8.2
<~ v H kRN EOIWEW (mg/L) — <0. 005 — — <0. 005
H (4 W A 7 N (mg/L) 8.6 8.4 8.8 8.5 9.7
NV T, TR NEGEE) (mg/L) — 60 — — 60
7K s J53 Eé? W] (mg/L) — 107 — — 123
= 4 4 v /A om 3w A (mg/L) — <0.01 — — <0. 01
v - 7 3 N N (mg/L) | 0.000001 | 0.000001 | 0.000001 | 0.000002 = 0.000002
- A F A4 VKL R F — L (mg/L) | <0.000001 0.000001 | 0.000002 | 0.000002 = 0.000002
F 4 F v K om 3w M A (mg/L) — <0. 005 — — <0. 005
7 - J — L $A (mg/L) —|  <0.0005 — —|  <0.0005
H#Y (&AM xR E (T0C) O &) (mg/L) 0.5 0.6 0.6 0.7 0.7
p H i 7.5 7.5 7.5 7.5 7.5

S Bl | BEaL ) BEAL | BEaL | BEWAeL
= = HEhL | BE2L BEAelL | BEELRL | BEAL
&) 3 i3 0.5 <0.5 0.5 0.5 0.5
) i3 (B£) 0.1 €0. 1 0.1 0.1 0.1
153 %’ ey e (mg/L) 0.4 0.4 0.4 0.4 0.4
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128.9. 13 | H28. 10. 18 | H28. 11. 15 | H28. 12. 13| H29.1.17 @ H29.2.14 | H29.3. 14 [N e/l S
i fif & i i fif £ —
21.0 23.0 16. 8 15.0 4.0 10.0 9.5 29. 1 4.0 18.0
24.0 20.5 16.1 12.0 8.0 9.3 12.0 26.5 8.0 17.2
0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
— <0. 0003 <0. 0003 —|  <0.0003  <0.0003|  <0.0003
— —| <0.00005 — | <0.00005 —| <0.00005 <0.00005 <0.00005
— — <0. 001 — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 001 — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 001 — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 005 — <0. 005 — <0. 005 <0. 005 <0. 005
— — <0. 004 — <0. 004 — <0. 004 <0. 004 <0. 004
— — <0. 001 — <0. 001 — <0. 001 <0. 001 <0. 001
— — 1.3 — 1.1 — 1.3 0.72 1.0
— — <0.08 — <0.08 — 0.08 <0. 08 <0. 08
— — 0.01 — 0.01 — 0.02 0.01 0.02
— —|  <0.0001 — | <0.0001 —| <0.0001  <0.0001  <0.0001
— — <0. 001 — <0. 001 — <0. 001 <0. 001 <0. 001
— —|  <0.0002 —| <0.0002 —|  <0.0002  <0.0002|  <0.0002
— —|  <0.0001 — | <0.0001 —| <0.0001  <0.0001  <0.0001
— —|  <0.0001 — | <0.0001 —| <0.0001  <0.0001  <0.0001
— —|  <0.0001 — | <0.0001 —| <0.0001  <0.0001  <0.0001
— —|  <0.0001 — | <0.0001 —|  <0.0001 <0.0001  <0.0001
— — <0. 06 — <0. 06 — 0.07 <0. 06 <0. 06
— — <0. 002 — <0. 002 — <0. 002 <0. 002 <0. 002
— —| 0.0067 — | 0.0047 — 0. 025 0. 0047 0.012
— — 0. 002 — 0. 003 — 0. 006 <0. 002 0. 003
— —| 0.0014 —0.0014 —|  0.0017 0.0014 0.0015
— — <0. 001 — <0. 001 — <0. 001 <0. 001 <0. 001
— — 0.012 — | 0.0097 — 0. 035 0. 0097 0.019
— — 0. 006 — 0. 004 — 0.017 0. 004 0. 009
— —| 0.0043 —|0.0036 —| 0.0084 0. 0036 0. 0055
— —| 0.0001 — | <0.0001 —| 0.0001 <0.0001  <0.0001
— — 0. 002 — <0. 002 — 0. 006 <0. 002 0. 003
— — <0. 005 — <0. 005 — <0. 005 <0. 005 <0. 005
— — 0. 02 — 0.02 — 0.04 0.02 0.03
— — <0.01 — <0.01 — <0.01 <0. 01 <0.01
— — <0.01 — <0.01 — <0.01 <0. 01 <0.01
— — 7.7 — 8.6 — 8.6 7.7 8.1
— — <0. 005 — <0. 005 — <0. 005 <0. 005 <0. 005
7.8 7.5 8.5 8.6 8.8 9.3 8.1 9.7 7.5 8.6
— — 63 — 67 — 67 60 63
— — 114 — 121 — 123 107 116
— — <0.01 — <0.01 — <0.01 <0. 01 <0.01
0.000001 = 0.000001 0.000002 | 0.000001 0.000001 | 0.000001 @ 0.000002 | 0.000002 | 0.000001 0.000001
<0.000001| <0.000001 <0.000001| <0. 000001 <0.000001 0.000001 | <0.000001| 0.000002 | <0.000001 <0.000001
— — <0. 005 — — <0. 005 — <0. 005 <0. 005 <0. 005
— —|  <0.0005 — | <0.0005 —|  <0.0005  <0.0005  <0.0005
0.5 0.4 0. 4 0.4 0.5 0.6 0.5 0.7 0.4 0.5
7.4 7.4 7.3 7.5 7.5 7.5 7.5 7.5 7.3 7.5
Bl | BEaL ) BEAL | BEAL ) BEWAaL BEALL | AWARL — — HEL
Bl | BEaL ) BEAL | BEAaL ) BEWAaL BEALL | BAWARL HBERL
0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 0.5 <0.5
<0. 1 0.1 <0. 1 <0. 1 <0. 1 0.1 <0. 1 <0. 1 <0.1 0.1
0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.4 0.5
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3 RO KERMA
(4) BB EFTE N
(2) BYEFROMERE

AR ()R - EEIEAIRIRS R
24 7K A H H H28.4.12 H28.5.17 | H28.6.14 | H28.7.12 @ H28.8.23
T rrFEUCELREOARLAY (mg/L) — | <0.0003 — — <0. 0003
7 7 v k™ E oA W (mg/L) — | <0.0002 — —| <0.0002
= v NV EOrE O AEY (mg/L) — <0. 001 — — <0. 001
L2- ¥ /7 m wvw xT X v (mg/L) — <0.0001 — — <0. 0001
~ I - N (mg/L) —| 0.0001 — — | 0.0003
TRV (- F L~F L) (mg/L) — <0. 001 — — <0. 001
i b= =3 [543 (mg/L) — <0. 06 — — 0. 06
Y s v w7 kv =1V (mg/L) — 0. 002 — — 0. 003
ook 7 = 5 — (mg/L) — 0. 006 — — 0.012
2 3 ¥ — <0. 001 — — 0. 008
il Hfe R i3 (mg/L) — 3.0 — — 2.4
LL1I- Y 7 vwow x X v (mg/L) — <0.0001 — — <0. 0001
A F L -t- 7 F )L = — F )L (MTBE) (mg/L) — <0.0001 — — <0.0001
B OS5 M E (T O N ) <1 <1 <1 <1 <1
B A (Z 45U 7 %) — -1.2 — — -1.1
B & 5 = A (f# /mL) 0 0 0 0 0
LI- ¥ 7 v mr = F L v (mg/L) — <0.0001 — — <0.0001
23 = s A il (MPN/100mL) — — — — —
£ Wb B EE R & (mg/L) — — — — —
b7 15 3 e (mg/L) — - — - -
7 - v v :L (MPN/L) - - - - -
I = 3 2 iful (MPN/L) — — — — —
X W B (MPN/100mL) 0 0 0 0 0
#E fE Mk # fH Bk (MPN/100mL) — — — — —
7 oy T = 7 & = # (mg/L) — — — — —
7 % > 7 VA (mg/L) — 16 — — 16
~ 7 kS > v A (mg/L) — 4.6 — — 4.5
fifi [ A 7 N (mg/L) — 20 — — 20
kU »~ 8 X Z v A Ok fE (mg/L) — — — — —
b 7 JL 7 D) i (mg/L) — 40 — — 38
o = & i R (mS/m) 16.5 16. 4 16.7 16. 7 16. 8
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H28.9.13 | H28.10.18 | H28. 11. 15 H28.12. 13 | H29.1.17 H29.2.14 | H29. 3. 14 K /) D]

— — <0. 0003 — — <0. 0003 — <0. 0003 <0. 0003 <0. 0003
— — <0. 0002 — — <0. 0002 — <0. 0002 <0. 0002 <0. 0002
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
— — <0. 0001 — — <0. 0001 — 0. 0003 <0. 0001 0. 0001
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 06 — — <0. 06 — <0. 06 <0. 06 <0. 06
— — <0. 001 — — <0.001 — 0. 003 <0. 001 0.001
— — 0. 003 — — 0. 003 — 0.012 0. 003 0. 006
— — <0. 001 — — <0. 001 — 0. 008 <0. 001 0. 002
— — 3.0 — — 1.8 — 3.0 1.8 2.6
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1
— — -1.4 — — -1.3 — —-1.1 -1.4 -1.3
0 0 0 0 0 0 1 1 0 0
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
0 0 0 0 0 0 0 0 0 0
— — 17 — — 18 — 18 16 17
— — 4.9 — — 5.4 — 5.4 4.5 4.9
— — 22 — — 20 — 22 20 21
— — 39 — — 43 — 43 38 40

15.6 16.8 17.1 18.6 18.5 18.0 16.8 18.6 15.6 17.0
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3 MKIEEROKERE
(4) BeaKEE EFE N

(2) BRSOV R AL
AOR (B8R - B ERREE KRS R

£ 7K F A H H28.5.17 | H28.8.23 |H28.11.15 H29.2.14 LN /s Sy
L3-Y s wow7° 5A” v (DD (mg/L)| <0.0002 <0.0002 <0.0002| <0.0002] <0.0002 <0.0002  <0.0002
2,2-DPA(C % 5 K v ) (mg/L)| <0.0002| 0.0006 | <0.0002 <0.0002| 0.0006 @ <0.0002  <0.0002
2,4-D (2, 4-PA) (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001| <0.0001 <0.0001 <0.0001

EPN (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
MCPA (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005

7 D4 e 7 2 (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 + 7 - — k (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
7 k 7 P4 > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 = = & Z (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 3 ~ 7 2 (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
7 7 7 = — L (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 vV % % F  F v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
4 v 7 = ¥ & A (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A4 YV 7 v JH o 7 MIPC) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4V 7 m F F 5 v (IPT) (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
4 7 m N & A (IBP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 v X 2 7 57 v (mg/L)]| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
= 2 7 v H A 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= ¥ 4 7 = v & % (EDDP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
= 7 = v 7 v oy 7 A (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
T RYDTY— A (mr AV —) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
TURALT 7 (R EY) (mg/L)| <0.0001  <0.0001  <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
F+ % H ¥ r v A K v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F x v v i (A M 8§ ) (mg/L)| <0.0001| <0.0001 <0.0001  <0.0001| <0.0001| <0.0001  <0.0001
4 U H 2 b v B v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
Vi =z VA ) 2 (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
37 = v A k v — b (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
b A )] b (NAC) (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
/Y VR A = A K (mg/L)| <0.0001] <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
il JL N 7 7 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
X /J 7 5 I »  (ACN) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
¥ ¥ A v > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 2 I = v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7y w A 7 v v 7 (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 m ) = kv 7 = » (CNP) (mg/L)| <0.00001 <0.00001 <0.00001/ <0.00001| <0.00001 <0.00001 <0.00001
y wm g U R Z (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
7 m wm % m = )L (TPN) (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
Vs 7 7 D4 > (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
> 7 7 & A (CYAP) (mg/L)| <0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v 7 = N (DCMU)  (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
v 7 m X = 2 (OBN) (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 v A K Z  (DDVP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
ALK R (mFATF A A M) (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
v A %+ =4 JL (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
oo om R v 7 7 F s (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
o < v NZ (CAT) (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v A 2R F U » (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
v A k Ea — F (mg/L)|[ <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
D A k Y > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
Y A EF L — b (mg/L)] <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v 4 7 ¥ J > (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
v A N = > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
¥ 7 v = L (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
¥ % 7 2 (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F 7 P4 7 JL 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
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3 KO KERE

(4) BeaKEE EFE N
(2) BYEF R OHIERAE

AR (RN R Y - A EEE KGR & R

7 K 1F A A H28.5.17 | H28.8.23 H28.11.15| H29.2.14 | H&K BN TP

F 4 7 7 % — k A F 0 (mg/L)| <€0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F 4 N v 7 (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F g 7 H A 7 (MBPMC) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
K D) Vi = B L (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
F U 7 v A sk v (DEP) (mg/L)]| <0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
kU v s 5 Y — b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 <0.0001
U 7 v 5 U v (mg/L)| <0.0001] <0.0001 <0.0001] <0.0001| <0.0001 <0.0001  <0.0001
> 75 om0 F (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
= ~ = & 2 (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v 5 Y % v 7 = v (mg/L)] <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
S U x—Kk(EF YL — k) (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
¥ U ¥ 7 = v F o v (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
¥ U 7 F  h 7 (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= m ¥ = > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 4 7 m = ) (mg/L)]<0.000005 <0.000005 <0.000005 <0.000005]<0. 000005 <0. 000005 <0. 000005
7 = = kv F 4 > MEP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 = J 7 & 7 (BPMC) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 = v F A+ v (PP) (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 = ¥ Lk = — k (PAP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 = v k7 F I F (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 s = A K (mg/L)| <0.0001] <0.0001 <0.0001] <0.0001| <0.0001 <0.0001 <0.0001
R 27— L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 Vi 2 & 2 (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 7 w7 = ¥ v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 v 7 Y x (mg/L)] <0.0001  <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
7 L F 5 s v — b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 v 3 R v (mg/L)| <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 v F 4+ & A (mg/L)| €0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 m v =2 F Y — 2 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 n v 3 F (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 o X F Y — L (mg/L)]| <€0.0001] <€0.0001 <0.0001] <0.0001] <0.0001] <0.0001 <0.0001
7 v = 7 F F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
~ J 2 A (mg/L)|  €0.0002  <€0.0002] <0.0002  <0.0002| <0.0002  <0.0002  <0.0002
~ v = > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
N v Yy v v 7 oa v (mg/L] <0.0001  <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
N v Y 7 = F w7 (mg/L)] €0.00001 <0.00001 <0.00001 <0.00001] <0.00001 <0.00001 <0.00001
~ v % > > (mg/L)| <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
~ v F 4 A & U v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
Ny 75k 7 (mg/L)| <0.0001  <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Ny TN T Y (R AP r) (mg/L)| <€0.0001  <€0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
~N v 7 v & — b (mg/L)| <0.0001 <0.0001] <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
K A F 7 ¥ — b (mg/L)] €0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
~ 5 F 4 v (~ F Y v ) (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
A a3 7 m w7 (MCPP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A v N A (mg/L)] €0.0001  <€0.0001  <€0.0001  <0.0001] <0.0001 <0.0001  <0.0001
A % 5 % v L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
A F X F & »  (OMP) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A F v X A4 A v v (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A K 3 J A k om B ¥ (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A b ) 7 v v (mg/L)| <€0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
A 7 = F & v bk (mg/L)]| <0.0001 <0.0001] <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A v = = JU (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
=+ J] * — k (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
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3 KO KERE
(4) BeaKEE EFE N
(2) BYEF R OHIERAE
AR (RN R Y - A EEE KGR & R

£ 7K A A H H28.5.17 | H28.8.23 |H28.11.15 H29.2.14 LN /s Sy

EPN Z ¥ v > (mg/L)| <0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A4 Y X% % F F v A F Y o~ (ng/L)] <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
A4 YV 7 = vk A F F Y v (mg/L)]<0.000005 <0.000005 <0. 000005 <0.000005|<0. 000005 <0. 000005 <0.000005
T v F 2 A 7 = — |k (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
CNP- 7 2 J & (mg/L) [<0.000001]<0. 000001 | <0. 000001 <0.000001]<0. 000001 <0. 000001 <0. 000001
7 v L ¥ Y kR A F ¥ Y (mg/L)| <0.00001 <0.00001 <0.00001] <0.00001]| <0.00001 <0.00001| <0.00001
X A4 7 Y 2 v F F Vv (mg/L)| €0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 x = huF A FF Y (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP 2 L k%3 R (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP 2 JL 7+ > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP Z ¥ v > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
MPP 4 % ¥V v 2 L R F ¥ F (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP A+ % Y v Z & v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 % I KR A A4 F YV v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
7 v & 7 F F F 7 v E (ng/L)] <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
~ 5 F F v F F YV v (mg/L)| <€0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
7 v % I 7 U F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
4 2 ¥ 7 v 7 U F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
F 7 a  F v — L (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001]| <0.0001
=5 Z 7 = ) Z (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 L A 7 7 I F (mg/L)| €0.00001 <0.00001 <0.00001] <0.00001]| <0.00001 <0.00001| <0.00001
7 = ~ D sV (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
~ r  F  F F Y v (mg/L)| <0.0001 <€0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
2 A = v (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A b 5 7 v — 2 (mg/L)| <0.0001 <0.0001 <€0.0001] <0.0001] <0.0001 <0.0001 <0.0001
T R Y 5 -5 A F  (mg/L)| <€0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
7 A k U > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
4 F N v 7 4 F (mg/L)] <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001]| <0.0001
4 ~ Y Z A 7 m ¥ (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
v = =@ F Y — 4 P (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
= F ¥ ¥ 2 A 7 v ¥ (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
© F N ¥ =  F (mg/L)| <0.0001 <€0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
F F B Y 7 X 2 (mg/L)]| <0.0001  <0.0001 <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
Z ¥ VA 2 b (mg/L)| <0.0001 <0.0001  <€0.0001 <0.0001| <0.0001 <0.0001 <0.0001
¥ ¥ v & v 7 = F A (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
s v F 7 = ¥ v (mg/L)| <0.0001 <0.0001 <€0.0001 <0.0001] <0.0001 <0.0001 <0.0001
s w < 7 = /J ¥ F (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
J vy 2 — L A F L (ICTP) (mg/L)[ <0.0001 <0.0001  <€0.0001 <0.0001] <0.0001 <0.0001 <0.0001
s m ¥ U R A A F L (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
Y s w7 = v F 4 » (ECP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
v Y = A Vs > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y 7 m A 7 m vy 7 (mg/L)| <0.0001 <0.0001 <€0.0001 <0.0001] <0.0001 <0.0001 <0.0001
vy ) A2 7 |\ v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001f <0.0001 <0.0001  <0.0001
2 J 7 7 7 > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y 7 = @ F Y — A (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
Y 7 L AN v X o\ v (mg/L)| <0.0001 <0.0001 <€0.0001 <0.0001] <0.0001 <0.0001 <0.0001
v 7 m a2 F ¥V — A (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
D 7 = D = JL (mg/L)| <0.0001 <0.0001  <€0.0001 <0.0001] <0.0001 <0.0001 <0.0001
v A @ F Y — 4 (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
Y A F N ¥ v R A (mg/L)| <0.0001 <0.0001 <€0.0001] <0.0001] <0.0001 <0.0001 <0.0001
v 5 7 A F 7 = v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
V2 N A ¥ ) > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
F ¥ 7 v 7 R (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
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3 KO KERE

(4) BeaKEE EFE N
(2) BYEF R OHIERAE

AR (RN R Y - A EEE KGR & R

£ 7K A A H H28.5.17 | H28.8.23 |H28.11.15 H29.2.14 LN /s Sy

F 7 A F % H A (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
¥ 4 LW 3 F (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
F FF 7oA rAk A CWP) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
F F 5 a F Y — L (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
F 7 7 = ) ¥ F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
F U X2 F Y Ry = F o (mg/L)| <0.0001 <0.0001 <€0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y 7 o 2 Y — A (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
>+ 7 v 7 = Y F (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
= va N = 5 2 (mg/L)| <0.0001  <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Ry a7k 5 Y — L (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001] <0.0001
=5 A I o v > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
¥ Y AN 7w v F L (ng/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
U I 2 N vy 7 A F o (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
U I &k A A F L (mg/L)| <£0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
7 7 A b v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 0 7 Y &K v 7 (mg/L)| <0.0001 <0.0001 <€0.0001 <0.0001] <0.0001 <0.0001 <0.0001
7 w8 = 2 (DCPA) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001 <0.0001
7 = % * 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001| <0.00001
7 m 8 A ¥ v b (BPPS) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 v K ¥ Z L (PHO) (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001] <0.0001 <0.0001] <0.0001
7 = A k ) > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
N v ¥ A4 & B v T (mg/L)| €0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
2 ¥ D2 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A 2 7 j F (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
£ /) s o\ bk & A (mg/L)] <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001] <0.00001 <0.00001
1 = = o > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 Y ¥ ¥ Z F v E v (mng/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
A 7 & v * > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y = = % 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001f <0.0001 <0.0001]| <0.0001
v 7 o = > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
F = L rZ m  — L (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
vy om ok A A F A (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
N | A 7 o\ v A F L (mg/L)| <0.0001  <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
v 7 = ) vz Z (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
¥ U 7 m % v 7 = v (mg/L)| <0.0001] <0.0001 <0.0001] <0.0001| <0.0001 <0.0001| <0.0001
7 5 ¥ 2z A 7 v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
7 v k 5 = U (mg/L)| <0.0001 <0.0001 <€0.0001 <0.0001| <0.0001 <0.0001 <0.0001
~ o=z R (SAP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
N v 2 7 o\ v A F L (mg/L)| <0.0001  <0.0001  <0.0001] <0.0001| <0.0001 <0.0001] <0.0001
70 + ¥ sV (mg/L)| <0.0002  <0.0002| <0.0002| <0.0002| <0.0002  <0.0002  <0.0002
A2 adRARXAFALAFY L (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
+ % ¥ ¥ 7 Y v (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
s v A b ¥ ¥ = L (mg/L)] <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
My ZmabEr-2-7 k% x=F N (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
= F ©m 7 = ¥ (NIP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
7 = % D > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
2- 4 b E U F — b (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001  <0.0001
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3 RO KE R
(4] SRAKEEZEREN
(3) AWt
@O H GRS - EMBEE KRS R)
|| &R £ W 4 FEAKAE ] A H28.4.12 | H28.5.17 | H28.6.14
[Bac. [ 1 Achnanthes spp. 0.02 0.07
2 Asterionella formosa
3 Cocconeis spp.
4 Cyclotella spp. & Stephanodiscus spp. 0.02
5 Cymbella ventricosa
6 C. spp.
7 Diatoma vulgare
8 Fragilaria spp
9 Gomphonema spp.
10 Melosira varians
11 Navicula cinctaeformis
12 N. decussis 0.01 0.01
13 N. gregaria 0.01
14 N. spp.
15 Nitzschia acicularis
16 N. dissipata
17 N. fonticola
18 N. frustulum v. perpusilla
19 N. palea 0.01 0.01 0. 05
20 N. spp. 0.03
21 Rhoicosphenia curvata
22 Synedra acus
23 S. ulna
24 S. ulna v. oxyrhynchus 0.01
25 S. spp.
26 Thalassiosira pseudonana
27 Z DAt OEERSH 0.01 0.01 0.01
Chl. | 28 Ankistrodesmus spp. & Monoraphodium spp. 0.15
29 Carteria spp. & Chlamydomonas spp.
30 Dictyosphaerium spp.
31 Scenedesmus spp. 0.01
32 Z DA Dk ER 0. 04 0.62{ 0.04] 3.31
Cya.| 33 Anabaena spp.
34 Microcystis spp.
35 Phormidium spp.
36 Z Dt O EEER 0. 06
Fla. | 37 S m 0.01
Pro. | 38 ke du
39 i BUR
40 Z DD JFUEEY)
oth. | 41 R
42 Z DD AEY)
43 Tot. m/AEDIK 0. 09 0.67: 0.04] 3.71; 0. 01
44 Bac. EE@MR 0. 04 0. 05 0.19
A Chl. ket 0. 04 0.62{ 0.04[ 3.46} 0. 01
46 Cya.  EEpdn 0. 06
2 |47 Fla.  ##Ededn 0.01
48 Pro. Ji/EEM

49 Oth. =Dt AW

L AW O EANTEEN L ORI, AR A R,

ZOMOEY L, InLH OFEEE Z 7T,
FOMOEMT, MBAEMEIIINZ T W,
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